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Q.1 The statements below are followed by two conclusions labeled I and II. Assuming that the information in the statements
is true, even if it appears to be at variance with generally established facts, decide which conclusion(s) logically and
definitely follow(s) from the information given in the statements.

Statements:
1. All pupils are crows.
2. All crows are cats.
Conclusion
1. All cats are crows.

II. Some crows are pupils.

Ans 1. Only conclusion I follows.
& 2. Both conclusions follow.

X 3. Either conclusion I or conclusion II follows.
4. Only conclusion II follows.

Question 1D 9895802535
Chosen Option : 4

Q.2

Select the option that is related to the third term in the same way as the second term is related to the first term.

v 2. Chaos
X 3. Chat
& 4. Choose

Question ID : 9895802526

Chosen Option : 1

Q.3

Select the option that is related to the third number in the same way as the second number is related to the first number.
Ans 27 1 1 2 2 1
v 2 144

X3 275
< 4169

QUEDLiUII 1D . 9063990UZ95Y

Chosen Option : 2




Select the correct option that will fill in the blank and complete the series.

RTN, SRO. TPP, UNQ. ?
Ans X1 VIR

X 2. VLP

v 3 VLR

X 4 VIP

Question ID : 9895802524
Chosen Option : 3

Q.5 There is only one runway which will be used by seven flights one by one. P and Q will use the runway neither first nor
last. S will use it second after R. M will use it second before O. N will use it after O and before R. Q will use it just
before S. Who will use the runway third after O?

Ans X' 1. N
X2 P
X3 R
(4.Q

Question ID : 9895802534
Chosen Option : 3

Q6 Identify the decimal number that will come next in the following series.

10, 9.9, 9.89, 9.889, 9.8889,

Ans - X 1. 9.88999
< 2. 0.88888
< 3.0.98889
v 4. 9.88889

Question ID : 9895802538
Chosen Option : 4

Q.7 Select the option that will correctly replace the question mark (?) in the given pattern.

s (10) (1)
OJONORONONO

Ans X107
X211
X313
s

Question ID : 9895802541
Chosen Option : 2

Q.8 In a certain code, VIRUS is written as 46. How will CRUST be written in that code?
Ans X1 59

X2 57

v 54

X 455




Question ID : 9895802531
Chosen Option : 3

Q.9 Four numbers have been given out of which three are alike in some manner, while one is different. Choose the odd one.
ans XK1 317

v 2 561

X3 215

X 4419

Question ID : 9895802540
Chosen Option : 3

Q.1 Select a figure from amongst the four alternatives, that when placed in the blank space (?) of figure X will complete the
0 pattern. (Rotation is not allowed).

X

Ans ~
F 0
K2

S
v

Question ID : 9895802544
Chosen Option : 3

Q.1 Choose the option that most closely resembles the mirror image of the given word if the mirror is placed at the right
1 side.

PROWESS

Ans

X 1| 223IMORS9

X 2| 22EMORY

v s | 223W0s9

<+ | 22EWORd

Question ID : 9895802546
Chosen Option : 3

.




Q2-1 Choose the option in which the figure marked X’ is embedded.

Ans

v

X s

A LA LA (LA

X oa

Question ID : 9895802545
Chosen Option : 2

Q.1 Eight friends A. B, C. D. E. F, H and G are sitting around a circular table facing each other for a group discussion. A is
3 opposite F and second to the right of E. G is between C and A. H is to the left of E. Who is sitting second to the left of
c?

Ans X1 C
v A
X3 F
X 4D

Question ID : 9895802533
Chosen Option : 2

Qj,l In a certain code, LIGHT is written as GSTRO. How will GYPSY be written in that code?

Ans X' 1. BHOBT
X 2. BHIBT
v 3 BHKBT
& 4 BHHBT

Question ID : 9895802530
Chosen Option : 3

Q.1




® Choose the odd word out of the options.

Ans  of 1. KENYA

& 2. LONDON
X 3. LISBON

& 4 BANGKOK

Question ID : 9895802526
Chosen Option : 4

Q.1 Seven friends O. P, Q, R. S, T and U are watching a cricket match sitting in a stadium. P is sitting at one extreme end. T
6 s sitting between Q and U, and R is sitting to the immediate right of S and immediate left of Q. U is sitting second to
the left of P. Who is sitting second to the left of T?

Ans X' 1 P
XU
vi:iR
X4 Q

Question ID : 9895802532
Chosen Option : 3

Q7-1 Find out the two signs to be interchanged to make the following equation correct.

25+26%2-7+3=17
Ans X1 - and x

X2 -and+

v 3 xand+

X 4 +and -

Question ID : 9895802542
Chosen Option : 1

Qél Which number will follow next in the given number series?

2. 3782, X872
Ans  of 1. 202

X 2. 247

X 3147

X 4182

Question ID : 9895802537
Chosen Option : 4

Q.1 The statements below are followed by two conclusions labeled I and II. Assuming that the information in the statements
9 istrue, even if it appears to be at variance with generally established facts, decide which conclusion(s) logically and
definitely follow(s) from the information given in the statements.

Statements:
1. Some joules are energies.
2. Some energies are radiuses.
Conclusion:
1. Some radiuses are energies.

II. Some energies are joules.

Ans x 1.




+' 2. Both conclusions follow.
3. Only conclusion I follows.

4. Only conclusion II follows.

Question ID : 9895802536
Chosen Option : 2

Q.2 Select the option that is related to the third term in the same way as the second term is related to the first term.
0
Fierce : Violent : : Fallacy: ?

Ans 1. Ego
X 2. War
X 3. Fall
v < Tllusion

Question ID : 9895802527
Chosen Option : 3

Q.2 Select the option that is related to the third term in the same way as the second term is related to the first term.

1
BFI: AGK::DGJ:?

Ans - X1 HCL
X 2. HCI
v 3 CHL
X 4. CHC

Question ID : 9895802529
Chosen Option : 3

Q2-2 Which one of the following four-letter clusters does NOT belong to the group?

Ans X 1. JKN
X 2. GMO
v 3. DPN
X 4 TIF

Question ID : 9895802525
Chosen Option : 1

Qéz Choose the option that would follow next in the given figure series.

% ?

Ans

F




X 2

vz

X a4

Question ID : 9895802543
Chosen Option : 3

Q.2 A square transparent sheet with a pattern is given. How will the pattern appear when the transparent sheet is folded
4 along the dotted line?

2
L

L

Ans

v K>

o I

-------- -

X a4

Question ID : 9895802547
Chosen Option : 2

Q5'2 Select the Venn diagram that best represents the given set of classes.

Squirrels, Parrots, Mammals

Ans




Question ID : 9895802548
Chosen Option : 1

Qé2 is a form of Sufi devotional music which originated in the Indian subcontinent.
Ans 1. Qawwali
2. Teej Geet
< 3. Basant Geet
4. Kajri

Question ID : 9895803093
Chosen Option : 4

Q7-2 ‘The Story Of My Experiments With Truth’ is the autobiography of

Ans o 1. Mahatma Gandhi
X 2. APJ Abdul Kalam




< 3. Jawaharlal Nehru
& 4. Narendra Modi

Question ID : 9895803097
Chosen Option : 3

Q.2 In the Indian constitution the section on Citizenship draws inspiration from which country’s constitution?
8

Ans X 1. France

X 2 USA
& 3 Australia
v 1 UK
Question ID : 9895803090
Chosen Option : 2
% is generally sandy in texture and saline in nature.

ans - X1 Alluvial soil
X 2. Black soil
< 3. Laterite soil
v+ Arid soil

Question ID : 9895803086
Chosen Option : 1

Q3
0 are receipts of the government which are non-redeemable.

Ans 1. Tax receipts

N

. Direct receipts

w

. Revenue receipts

. Indirect receipts

~

Question ID : 9895803088
Chosen Option : 4

Q.3 Who is the Cabinet Minister currently responsible for Youth Affairs And Sports in the Government of India?
1

Ans 1. Rajyavardhan Singh Rathore
2. Sushma Swaraj
# 3. Nitin Gadkari
4. Vijay Goel

Question ID : 9895803082
Chosen Option : 1

93 The Lakshwdeep islands are located in the )

Ans X 1. Indian Ocean
& 2. Pacific Ocean
« 3. Arabian Sea




4. Bay of Bengal

Question ID : 9895803084
Chosen Option : 3

became the second highest scorer in the world as on June 2018.

Q.3 The Indian football player
3

Ans 1. Gurpreet Singh

v 2. Sunil Chhetri
3. Bhaichung Bhutia

4. IM Vijayan
Question ID : 9895803098
Chosen Option : 2
Q3 capital refers to the variety of raw material and money in hand during the production.
4
Ans X 1. Fixed
2. Working
/X 3. Human
4. Physical

Question ID : 9895803087
Chosen Option : 1

%3 The study of viruses is called .
Ans 1. biology
2. pathology

w

. paedology

N

- virology

Question ID : 9895803099
Chosen Option : 4

Qé3 The Gandhi — Irwin Pact was associated to which of the following movements of India?

Ans - X1 Rowlatt
v 2. Civil Disobedience
3. Non co-operation

4. Quit India

Question ID : 9895803079
Chosen Option : 4

Q.3 The procedure to remove waste products and excess fluid from the blood when the kidneys stop working properly is
7 called ;

Ans X 1. circulation
X 2 filtration
3. purification

v 4 dialysis




Question ID : 9895803102
Chosen Option : 2

Qé3 Jammu and Kashmir has been given special status under Article

Ans o 1370
< 2.100
X3 111
X212

Question ID : 9895803091
Chosen Option : 1

%3 The small pores on the lower surface of the leaf are called

Ans X 1. pore
2. opening
X 3 cilia
v 4. stomata
Question ID : 9895803101
Chosen Option : 1
Qd“ The economist received the Noble prize in 1998.

Ans 1. Dr. Manmohan Singh
2. Raghuram Rajan
« 3 Amartya Sen
4. Abhijit Vinayak Banerjee

Question ID : 9895803089
Chosen Option : 3

Ql"‘ are the nomads of the Jammu and Kashmir.

Ans ¢ 1. Bhotiyas
2. Gaddi Shepherds
3. Sherpas
4. Gujjar Bakarwals

Question ID : 9895803080
Chosen Option : 2

Y is the most ductile metal from the following.

Ans X 1. Tron
X 2. Aluminium
/< 3. Copper
v 4 Gold

Question ID : 9895803100
Chosen Option : 2




| . .

%* The Hawa Mahal is located in which city :

ans X 1. Delhi
2. Jaipur
3. Gujarat
X 4 Agra
Question ID : 9895803094
Chosen Option : 2
Q¢'14 The Judicial system in India contains a hierarchy of courts where is the Highest.

Ans X 1. Supreme court
2. Village Panchayat
3. High Court

X 4. District Court

Question ID : 9895803092
Chosen Option : 1

Qé“ Who among the following was inspired by the ideals of the French Revolution?

Ans 1. Tipu Sultan
& 2. Aurobindo Gosh

& 3. Annie Besant
4. Badruddin Tyabji

Question ID : 9895803081
Chosen Option : 1

Qé4 Which of the following is NOT a tributary of the river Indus?

Ans - X1 Ravi
< 2. Jhelum
/< 3. Chenab
« 2 Ganges
Question ID : 9895803085
Chosen Option : 3
Qs is the youngest recipient of the Rajiv Gandhi Khel Ratan Award.

Ans - X1 Geet Sethi
& 2. Virat Kohli
# 3. Vishwanathan Anand
4. Abhinav Bindra

Question ID : 9895803083
Chosen Option : 3

% Which of the following reacts with water?




Ans X1 Silver
X 2. Copper
X 3 Lead
v 4 Calcium

Question ID : 9895803103
Chosen Option : 3

%* Lathmaar Holi is celebrated in
Ans - X 1. Varanasi
2. Ayodhaya
< 3. Dwarka
4. Barsana and Nandgaon

Question ID : 9895803095
Chosen Option : 4

st is India’s first wicket keeper to have taken 300 catches.

Ans o 1. MS Dhoni
2. Virender Sehwag
/< 3. Suresh Raina
4. Sourav Ganguly

Question ID : 9895803096
Chosen Option : 1

V" ‘What is the value of [6% % %of (3— - +E)]?

5 62 62
Ans
g
33
2 LB
20
47
X3 —
62
43

N —
108

Question ID : 9895804260
Chosen Option : 1

Q5




The data given below shows the number of people who have saved a certain amount of money.

Savings | Number
(inx) of
people

5 1

15 3

20 4
25 2
30 1
35 1
40 2

What is the mode of the given data?
Ans of 1220
X2 330
X3 325
X4 3215

Question ID : 9895804265
Chosen Option : 2

Q3'5 What will be the average of first four positive multiples of 8?

Ans X;L 16
v 2 20
X3 32
X 4 24

Question ID : 9895804263
Chosen Option : 2

Q.5 The average age of 50 teachers of a school is 66 years and the average age of 60 teachers of another school is 55 years.
4 What will be average age of teachers of both the schools together?

Ans  of 1 60 years
X< 2. 57.5 years
X 3. 65 years
/< 4. 62.5 years

Question ID : 9895804262
Chosen Option : 4

Q.5 The height of a cone is 24 cm and radius of its base 10 cm. If the rate of painting it is Z 28/cm?, then what will be the
total cost in painting the cone from outside?

Ans X' 1. F |8880
< 2. 720820




X 3. % 17660
W 2 222880

Question ID : 9895804279
Chosen Option : 3

Q.5 Anil goes to his office at the speed of 35 km/hr and returns to his home at the speed of 30 knvhr. If he takes total 39
6 hours, then what is the distance between his office and home?

Ans X 1. 420 km
< 2 525 km
V'3 630 km
< 4 210 km

Question ID : 9895804277
Chosen Option : 2

Q.5 The price of two articles are in the ratio of 4 : 3 respectively. The price of first article is increased by 50% and the price
7 of second article is decreased by 10%. If the new price of second article is Z 54, then what was the original price of first

article?

Ans X1 F 120
v 2 280
X< 3.2 100
K 4290

Question ID : 9895804271
Chosen Option : 4

Q.5 Selling price and cost price of a book are in the ratio of 3 : 4. What will be the profit/loss percentage?

Ans  of 1. 250 loss
X 2. 33.33% profit

& 3. 66.66% loss
4. 20% profit

Question ID : 9895804268
Chosen Option : 2

Q.5 Calone can complete a work in 20 days and D alone can complete the same work in 30 days. In how many days C and
9 D together can complete the same work?

Ans 1. 6 days
2. 12 days
3. 15 days
4. 8 days

Question ID : 9895804274
Chosen Option : 2

Q.6 What will be the difference between the compound interest (interest is compounded annually) and simple interest on a
0 sum of 2 3200 at the rate of 20% per annum for 2 years?

Ans of 1% 128
X2 %148
X3 2132




X 4.396

Question ID : 9895804273
Chosen Option : 3

Q° What will be the Highest Common Factor of

23x3°x5%and 31 x5%2x7?
Ans X191 % 31 x 52

K2 21x3lx52x 71

K3 23x35x57x7!

v 31x52

Question ID : 9895804259
Chosen Option : 3

%" What is the value of [4+200+50+207 (2-2)] 2

Ans 317
v 1=
40

x o 222

40

X 322

40

)(42

40

Question ID : 9895804261
Chosen Option : 4

Q.6 A sum becomes 14 times of itself in 15 years at the rate of simple interest per annum. In how many years will the sum
3 becomes 92 times of itself?

Ans X 1. Ol years
< 2. 195 years
o 2 105 years
X 4. 210 years

Question ID : 9895804272
Chosen Option : 3

Q.6 B is 20% more than A and C is 25% more than B. If C = 330, then what will be the value of A?
4

Ans X 1. 198
X2 214
X 3250
v 220
Question ID : 9895804266
Chosen Option : 2
Q.6




The table given below shows the runs scored by 4 different batsmen B1, B2, B3 and B4 in 5 different matches of a

series.

Bl| 120 | 95 | 83 | 86 | 20
B2| 12 8 0 | 196 | 52
B3| 23 | 36 | 45 | 19 | 27
B4| 56 | 65 | 85 | 45 | 42

‘What is the per match average number of run scored by batsman B3?

Ans X136
X 2 35
<3 28
v 4 30

Question ID : 9895804281
Chosen Option : 4

Q.6 The table given below shows the runs scored by 4 different batsmen B1, B2, B3 and B4 in 5 different matches of a
6 series.

Matches
M1 | M2 | M3 | M4 | M5
B1| 120 | 95 | 83 86 | 20
B2| 12 8 0 196 | 52
B3| 23 | 36 | 45 19 | 27
B4| 56 | 65 | 85 | 45 | 42

‘What is the difference in the total number of runs scored by B1 and B4 in these 5 matches?
Ans X' 1 08
V2 111
X387
K4 124

Question ID : 9895804283
Chosen Option : 4

Q.6 The length and breadth of a rectangular garden is 12 cm and 9 cm. What will be the area of the rectangular garden?
7

Ans

1 96 cm?
2. 112 cm?
3. 84 cm?
4108 cm?

Question ID : 9895804278
Chosen Option : 2

Qéﬁ IfA:B:C=4:5:6, then what is the ratio of (1/A) : (1/B) : (1/C)?

Ans X1 15:10: 12
XK210:12:15
V3 15:12:10
K412:10:15

Question ID : 9895804269
Chosen Option : 2

Q.6 The perimeter of a rectangular table is 48 cm. If the area of the rectangular table is 128 cm?, then what will be the length
of the table?




Ans X110 cm
X 2 18cm

\f?»- 16 cm
X4 12cm

Question ID : 9895804280
Chosen Option : 3

Q.7 Rahul purchased 80 items from the market. 25% items of the total items were defective and the remaining items were
0 sold at 50% profit. What will be the overall profit percentage?

Ans X1 10%
v 2 12.5%
X3 11.11%
X 4.9.09%

Question ID : 9895804267
Chosen Option : 2

Ql'7 Ifa:b=4:5, then what will be the ratio of (a/b) : (b/a)?
Ans X' 1. 4:5

X25:4

v 16:25

KNal:l

Question ID : 9895804270
Chosen Option : 1

Q.7 The table given below shows the runs scored by 4 different batsmen B1, B2, B3 and B4 in 5 different matches of a
2 series.

Matches
M1 | M2 | M3 | M4 | M5
B1| 120 | 95 | 83 | 8 | 20
B2| 12 8 0 [ 196 | 52
B3| 23 | 36| 45| 19 | 27
B4| 56 | 65 | 85 | 45 | 42

‘What is the per batsman average runs scored by these batsmen in M5?

Ans X 1. 38.50
X 2.39.25
V'3 3525
X 4.32.75

Question ID : 9895804282
Chosen Option : 2

Q.7 Vivek, Dev and Lalit alone can complete a work in 10 days, 15 days and 20 days respectively. In how many days Vivek
3 and Dev together can complete half of the same work?

Ans 1. 9 days
2. 5 days
3. 3 days
4. 6 days

Question ID : 9895804275
Chosen Option : 3




Q.7 Anarticle is sold for T 5360 after giving discount of 20%. What is the marked price of article?
4

Ans X 1. F 6800
v 2. 26700
& 326620
& 427000

Question ID : 9895804264
Chosen Option : 2

Q.7 Ifaperson is driving a car at a speed of 30 nv's, then in how much time person will cover a distance of 1620 km?

5
Ans X 1. 54 hr

v 2 15hr
K3 13hr
&4 12hr

Question ID : 9895804276
Chosen Option : 4

Section : English Language

Q1 Select the most appropriate synonym of the given word.

ENORMOUS
Ans - X1 Keen
< 2. Grand
« 3 Huge
&< 4 Puny

Question ID : 9895804124
Chosen Option : 3

Q2 Fill in the blanks with the most appropriate words.

Rohit taught you such tricks as these,  ?
Ans of 1. didn’t he
< 2 hasn’t he
< 3. has he
X 4 did he

Question ID : 9895804114
Chosen Option : 1

Q3 Select the word which means the same as the group of words given.

A person with odd personality
Ans  of 1. Eccentric
2. Egoist
3. Entomologist




4. Ecologist

Question ID : 9895804127
Chosen Option : 1

Q4 Select the word which means the same as the group of words given.

Handwriting that cannot be read
Ans 1. Legible

N

. Corrigible
. Negligible
- Illegible

w

N

Question ID : 9895804128
Chosen Option : 4

Q.5 Identify the segment in the sentence which contains the grammatical error from the given options.

Buses run from this bus stand every few minutes because you shall not have to wait.

Ans - X 1. Buses run from

2. every few minutes

< 3. have to wait
' 4. because you shall

Question ID : 9895804106
Chosen Option : 3

Q.6 Identify the segment in the sentence which contains the grammatical error from the given options.
She gave a loud shout, which heard across the village.
Ans 1. She gave
X 2. Joud shout

v 3 which heard
4. across the village

Question ID : 9895804105
Chosen Option : 2

Q7 Select the most appropriate word to fill in the blank.

The forest officers _ a leopard cub trapped in a pit.
Ans  of 1 discovered
X 2. founded
& 3. invented
< 4 searched

Question ID : 9895804111
Chosen Option : 1

Q.8




Select the most appropriate meaning of the given idiom.

Get out of hand
Ans 1. Appreciable

v 2. Uncontrollable
3. Manageable

< 4. Controllable

Question ID : 9895804125
Chosen Option : 1

Q9 Select the most appropriate synonym of the given word.

DUBIOUS
Ans X 1. Delicate
& 2. Dutiful
3. Duplicate
v 1 Doubtful

Question ID : 9895804123
Chosen Option : 4

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
0 substitute it, select No improvement.

Rishi cleared the IIT entrance examination but do not pursue engineering due to personal reasons.

Ans 1. did not pursue
2. was not pursuing

3. No improvement

~

. has not pursue

Question ID : 9895804109
Chosen Option : 1

Q1 - : :
.~ Select the most appropriate antonym of the given word.

ORDINARY
Ans  of 1 Unique
X 2. Common
/< 3. Normal
4. Regular

Question ID : 9895804121
Chosen Option : 2

! Fill in the blanks with the most appropriate words.

They did it as you them to.
Ans 1. are telling
v 2 had told




X 3 tell
X 4 will tell

Question ID : 9895804113
Chosen Option : 4

%l Select the correctly spelt word.
Ans 1. Playwright

2. Playwrite

3. Playwriter

4. Playright

Question ID : 9895804130
Chosen Option : 4

Qf Select the most appropriate meaning of the given idiom.

To hold your horses

Ans X 1. To control horses

2. To have patience
3. To be too quick
# 4. To be excited

Question ID : 9895804126
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Suppose you have to make a payment of Rs. 100, you can do so in
coins; but it would be (1) to pay in nickel or copper coins,
because it takes much time to (2) them. The government
(3) permits you to make the payment in (4) What are
these notes really? They are a kind of money although they are made
of (5) instead of metal.
SubQuestion No : 15

Qs'l Fill in blank (1) with the most appropriate option.

Ans of 1 cumbersome
< 2. feasible
3. practical

/< 4. easy

Question ID : 9895804116
Chosen Option : 4

Comprehension:




In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Suppose you have to make a payment of Rs. 100, you can do so in
coins; but it would be (1) to pay in nickel or copper coins,
because it takes much time to (2) them. The government

(3) permits you to make the payment in (4) What are
these notes really? They are a kind of money although they are made
of (5) instead of metal.

SubQuestion No : 16
%L Fill in blank (2) with the most appropriate option.
Ans o 1. count

< 2. pay

3. hold

/< 4. carry

Question ID : 9895804117
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Suppose you have to make a payment of Rs. 100, you can do so in
coins; but it would be (1) to pay in nickel or copper coins,
because it takes much time to (2) them. The government
(3) permits you to make the payment in (4) What are
these notes really? They are a kind of money although they are made
of (5) instead of metal.
SubQuestion No : 17

Q7'1 Fill in blank (3) with the most appropriate option.
Ans X 1. although

< 2 s0

/< 3. then

v 4. therefore

Question ID : 9895804118
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Suppose you have to make a payment of Rs. 100, you can do so in
coins; but it would be (1) to pay in nickel or copper coins,
because it takes much time to (2) them. The government

(3) permits you to make the payment in (4) What are
these notes really? They are a kind of money although they are made
of (5) instead of metal.

SubQuestion No : 18
Q1




8 Fill in blank (4) with the most appropriate option.
Ans o 1. notes

< 2. coins
< 3. card
75 4. currency

Question ID : 9895804119
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Suppose you have to make a payment of Rs. 100, you can do so in
coins; but it would be (1) to pay in nickel or copper coins,
because it takes much time to (2) them. The government
(3) permits you to make the payment in (4) What are
these notes really? They are a kind of money although they are made
of (5) instead of metal.
SubQuestion No : 19

Qél Fill in blank (5) with the most appropriate option.
Ans of 1. paper
2. plastic

< 3. wood
#< 4. cloth

Question ID : 9895804120
Chosen Option : 1

Q.2 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
0 substitute it, select No improvement.

Don’t talk as soon as she is dancing.

Ans X1 how
2. as long as

X 3. but
4. No improvement

Question ID : 9895804108
Chosen Option : 3

Q.2 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
1 substitute it, select No improvement.

India expressed concern at the arrest of 130 Indian students enrolling at a fake university in Detroit.

Ans 1. enrolling in a fake university

2. No improvement

w

. enrolled at a fake university

~

. enroll by a fake university

Question ID : 9895804110
Chosen Option : 3




—

Q2 Select the correctly spelt word.
Ans 1. Succesfully
2. Successfuly
3. Sucessfully
4. Successfully

Question ID : 9895804129
Chosen Option : 3

Q.2 Identify the segment in the sentence which contains the grammatical error from the given options.
3

The work is too much for any man to do single-hand.

Ans - X' 1. too much
X 2. The work is
/< 3. any man to

4. single-hand

Question ID : 9895804107
Chosen Option : 1

Q2 . .
.~ Select the most appropriate antonym of the given word.

VIGOROUS
Ans of 1. Feeble
& 2. Curious
& 3. Trivial
/< 4. Strong

Question ID : 9895804122
Chosen Option : 2

Q2 Select the most appropriate word to fill in the blank.

Ishall be gladifyou  my proposal.
Ans X 1. except
X< 2. expect
3. intercept

o 2 accept

Question ID : 9895804112
Chosen Option : 4

Section : Hindi Language

Q1 =l # & 35 RFeT & 797 & 3 ' Fog F 37 a1 ' Fgray & 377 waFd A
MK A & TEE R g
Xoda @ aﬂﬁaaamr




. -t 17 H o9 @
4%##%

Question ID : 9895803513
Chosen Option : --

** NeT T B RS F BT TEd 3UgE eg F 9u H

EICTAR:] Tga FiT o
Ans 1. fI?ﬂ'
2. ag'
3o
4. :q‘gg‘r

Question ID : 9895803501
Chosen Option : --

O T I T U F g HY
Ans X1 cOTEEIT
X 2 FgIEAT
v 3 sgaET
X 4 SaITAT

Question ID : 9895803517
Chosen Option : --

* Rea e R F T GE 39 g I HY

Ao R g
Ans 1-33!'

X 2 Y

X 3 g

X 4. TSR

Question ID : 9895803498
Chosen Option : --

*° R W 1 R F T TEd 39gFT Uqeq F TIS H

AT T T FT FieT 3T ?
ans of 1 e
z.m

X 3 AT
< 4 Bl

[ Question ID : 9895803499




l Chosen Option : --

Q6 R arw arrr # Ywifa we # sfaraRa #@ F R wod s9gwd Bwes & s H
TF JU IS W A H AT T Tl @il

ANS 1 pTeTeT #Y BT 3T aE
2 FETT T T T AT
3. HETS T T F AT
4 FETSH T gTT H T

Question ID : 9895803495
Chosen Option : --

V' Ra T R F AT g9 39gFd U F 9T H

WW B T
Ans  of 1 GeaAT

X2 g

X 3 e

X 4 FTeEg

Question ID : 9895803500
Chosen Option : --

°° R I T F AT vF aeg A

ST TG & T &
Ans  of 1 goIreT
. o
.
s

Question ID : 9895803514
Chosen Option : --

Q9 R are e # Wwifda @E # sfowuRE e & BT T s Rwed # T F)
9 $=ol gAN W g S § a gAN A Wel HESE & gl

M1 o gEoIY gART SR gTET g e §
> T $TOIC gH W gEr g e €
3 S FEOIC g7 W EE & A
4. ST FTOIT 37 9T grar g S &

Question ID : 9895803497
Chosen Option : --

Comprehension:




e 71w ag=e & Fo ueg gar Ry 71w § fRw v Rt #
eI ¥ R e sl 93% 9 F v ged 39gEd
e 7 TTT FY

TER # §gd @ IEqU IAR e wRr E1 g IR IEgqe
Far (1) 7@ 377t He & ewar (2), FATT T
e dR, @A 39w 3R AT AT FHAAT FT IgeT AT ¢ -
AT 9SU| ‘el Fgl AT TE (3) FT WA AT g1 &
e F wW aF H T (4) FTaT TfET| S HH @
TS FA ¢, 3Hb g AR sEsT (5) & = 2
SubQuestion No : 10
% FTerer # WA Red T (1) & e sugwa
ereg gIemm -
Ans X 1. 3SHT
2. FeaT
VR -y
4. THeTeT

Question ID : 9895803503
Chosen Option : --

Comprehension:

T a1v et F FT g ger U v §) R av et &
T ¥ od Tue sl s §Ew F o 5y 393w
ereT FT ITT FL

TR # 9gd W aEqY SRR e wwd §1 g IR aege
Fair (1) 7 el Hg ¥ e (2), FAT T
e AT, @ar 39ET AR €9 AT GEAAT F IgT AT ¢ -
AT ST ‘Fel AT AT ITE (3) T WH AT g1 g
AT F T 8T H SHHT (4) FIAT TET| AT AHTT BT
T FAGT g, 38 Hg AR sfesy (5) & I 2

SubQuestion No : 11
% areErer #F wHaa Red T (2) F e sugEa
reg g1 -
Ars of 1 QTe
2 FS
&< 3 gy
< 4 GIaT

Question ID : 9895803504
Chosen Option : --

Comprehension:




e 717 =t & o oo gar R 71w §) fow aw et
T ¥ R e sl 93 9 & o ged 39ged
e 7 TTT FY

ﬁmﬁagaﬁraﬁr&”m-mmmﬁlﬁ@maﬁﬁ
Fair (1) 7@ 37 Aqg § Aswer (2), FAT T
fAeper 7, @T 39w AR AT AT FHAAT H IgAT AT ¢ -
AT JEUA| ‘Tl el I’ I (3) T H AT g1 gH
Sad & & aF H SHHr (4) T =Tl S AT F
T FA g, 3HH g AR AEST (5) & 3 &1
SubQuestion No : 12

% wegrr & wHfad Rea T (3) & fow s
oreg; grem -

Ans of 1 HEHOIAT

2. ferTem

X3 gR
X 4 Fherdr

Question ID : 9895803505
Chosen Option : --

Comprehension:

e 717 =g # o weg g1 R 71w §) few aw et #r
eI ¥ R e &8 93 = & o ged 39ged
RereT FT T FL

mﬁagaﬁrﬁﬁm-mﬁam%lﬁ@maﬁﬁ
Far (1) & 377 Aqg § Aewor (2), FAT T
e dT, WET 38T AR €9 AT FFAAT FT IgeT AT ¢ -
AT 9SU| ‘Fol gl AT T (3) FT WA AT g1 &H
e F W aF H T H (4) FIT QT FAr HT Fr
TS AT g, 38 g AR sy (5) & I3 2
SubQuestion No : 13

% Tegre # wHad Red T (4) F R sugwa
Teg BIeT -

Ans xlgqm

2. gy

3. 3TTEOT

. forERR

Question ID : 9895803506
Chosen Option : --

Comprehension:




e 17 st & o oo gar R 71w §) fow aw et
T ¥ R e sl 93 9= & o ged 39ged
e FT T FL

TR # §gd @ IrqV I-ER e wdr E1 g IR IEqe
Far (1) & 37 #qg § Aswer (2), FAT T
fAeer AR, @AT 39w 3R €aT AT AHAAT F UgAT A ¢ -
AT 99UF| ‘Tl AT AT ITE (3) T WH AT g1 g
Sea F W aF H HH (4) FTAT AT FAr HTST Fr
T AT g, 38 g AR sfesy (5) & I3 2

SubQuestion No : 14

% v # gHfad Red T (5) ¥ e suged
oreg B -

ans of 1 FE

Question ID : 9895803507
Chosen Option : --

% TEr IFN AT UsE F TIA HL
Ans | 3dFSE

.

. FD

4. 3chT

Question ID : 9895803516
Chosen Option : --

U R7 T weg F TAFAEN Aeg F TATT FY

T
Ans 1. ?qT
2. AT
5. AT

N

4. pda

Question ID : 9895803510
Chosen Option : --

Qf%(rmal?q'a:rﬁmgﬁl
ot

Ans




7477y

Question ID : 9895803509
Chosen Option : --

Qél ol # @ 3u Reey & 997 &1 St ' 3@ o ' qEE #7 3 Fd w1 ¢
AL greafaeRar T e g

2. siffa g
X 3. I HIH FIAT

4 HYAT HIE Qrelar

Question ID : 9895803512
Chosen Option : --

G R T areer F AT T e SR

St ad
Ans e
K2 HW
v HET
4. 3Ed

Question ID : 9895803515
Chosen Option : --

2 R T Areg ¥ AT o FT ATT FY

Question ID : 9895803511
Chosen Option : --

%P R oTT A @ FE ST A W S A IR g
STTYUT U WHTTS Fell § o oy e gawamsdt @ @ar g
AN L TVOT T HTATSIR el &
2 fowedr geyr
X s feT gaEET @




4 grar gl

Question ID : 9895803493
Chosen Option : --

% RU AT aw # ag FE AT A w3
$H TSR H T H AT & EH TAT HWAA R GG T g
AL TS % g
> TH TWIHR H T H
3 9 T &l

4 Fraa HTEATT 9T

Question ID : 9895803492
Chosen Option : --

Q3.2 e e s # Wifea @z #1 sfarnfa &= & B 798 s9gFa Reew & 997 #{
e cafFd Arr dk e W @R a9 @ige S gdeT FRar g
A1 e 3R Rreemw ¥ mER

2. 3T 3R g ¥ @@
3. 37 3R feE W "@enT
4. 3TRT 3R frearw@ &1 e

Question ID : 9895803496
Chosen Option : --

% R v g & fEw I

IR

Ans  of 1 OeT
X2 FEX
PSR ryp )

4. EJOM

Question ID : 9895803508
Chosen Option : --

% U T e 1 ag A A| W Swd A IR P

IEIT T HhaOa Ferar 7 v 3fenT g
Ans of 1 FTEAT T
2. faemar &
3. U AHTERTT B
4 3HeRoITTe
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Section : General Section

Q1 Choose the option in which the figure marked ‘X’ is embedded.

g

Ans

2
bl
~

v

X 3

]| |l

\4/

Question1D"9895804688

Chosen Option : 2

Q.2

Select the option that is related to the third term in the same way as the second term is related to the first term.

X 2. TPN
X 3. TQN
v+ TRN

QUCDLiUII 1D . 9069006U40 7 Z

Chosen Option : 4

J, KL, M, N and O are six teachers. Each one teaches a different subject out of Hindi, English, Math, Science, Social
Science and Arts, not necessarily in the same order. Each of them teaches on only one day, from Monday to Saturday,
not necessarily in the same order. J teaches Arts on Saturday. L teaches neither English nor Social Science, but he
teaches on Thursday. Wednesday is reserved for Maths taught by K. O teaches Science a day before N. Social Science is
taught a day before Arts. Which subject is taught by L?




Ans of 1. Hindi
< 2. Maths
& 3. Science
X 4 Arts

Question ID : 9895804677
Chosen Option : 3

Q.4 In a certain code, TOUCH is written as 68. How will ERROR be written in that code?

Ans of 1. 6]
K254
X3 59
K455

Question ID : 9895804674
Chosen Option : 2

Q5 Which number will follow next in the given number series?

3,18,48,93,7
Ans X 1. 247
X 2147
V'3 153
X4 202

Question ID : 9895804680
Chosen Option : 1

Q.6 Seven friends O, P. Q, R, S. T and U are watching a movie sitting in a row. S is sitting at one extreme end. Q is sitting
second to the right of S. P is sitting between O and Q. U is not sitting at any extreme end. R is sitting to the left of T.
Who is sitting at the extreme right end?

Ans X1 R
vorT
X3P
X42Q

Question ID : 9895804675
Chosen Option : 3

Q.7 Select the option that is related to the third term in the same way as the second term is related to the first term.

Lamb : Frisk : : Mouse : ?

Ans - X 1. Strut
& 2 Leap
« 3. Scamper
< 2. Swoop

Question ID : 9895804671
Chosen Option : 2

Q-8 Which one of the following letter clusters does NOT belong to the group?

Ans 1.




X 2 AK
X3 QI
v 4+ FH

Question ID : 9895804668
Chosen Option : 2

Q.9 The statements below are followed by two conclusions labeled I and II. Assuming that the information in the statements
is true, even if it appears to be at variance with generally established facts, decide which conclusion(s) logically and
definitely follow(s) from the information given in the statements.

Statements:
1) Some monks are convicts.

2) Some convicts are soldiers.

Conclusion:
L Some convicts are monks.
II. Some soldiers are convicts.

Ans 1. Only conclusion II follows.

& 2. Neither conclusion I nor conclusion II follows.
3. Only conclusion I follows.

v 4. Both conclusions follow.

Question ID : 9895804679
Chosen Option : 2

Q.1 A square transparent sheet with a pattern is given. How will the pattern appear when the transparent sheet is folded
0 along the dotted line?

o L
X

x. Xz

Ans

x, NG

v, M

Question ID : 9895804690
Chosen Option : 2

Qil Find out the two signs to be interchanged to make the following equation correct.

14+16x14-7+3=43

Ans




v 1 _and+

X 2 xand+
X 3 +and-
X 4 _and x

Question ID : 9895804685
Chosen Option : 4

Q2-1 Select the option that will correctly replace the question mark (?) in the given pattern.

17 15 13

7 6 5

-~

66 51

Ans X117
X 2 45
v 3 38
X 19

Question ID : 9895804684
Chosen Option : 2

Q.1 Select the option that is related to the third number in the same way as the second number is related to the first number.
154:2707::13:7
Ans o 1. 208
X 2 169
X3 144
X 4. 275

Question ID : 9895804682
Chosen Option : 2

Qd;l Select the Venn diagram that best represents the given set of classes.

Austria, Denmark, Countries

Do

X 2




v

Question ID : 9895804691
Chosen Option : 2

%! Choose the odd number out of the given options.

Ans X178
X2 9]
v 24
X 4. 65

Question ID : 9895804683
Chosen Option : 3

Q.1 Select a figure from amongst the four alternatives that when placed in the blank space (?) of figure X will complete the

6 pattern. (Rotation is not allowed).

Ans -

\/4.||

Question ID : 9895804687
Chosen Option : 3

Q.1




Choose the option that would follow next in the given figure series.

&g | &8~ ?

Ans

y 8

=
R
Vol 5
2

Question ID : 9895804686
Chosen Option : 2

Qél Which number will follow next in the given number series?

7,8,16,43,?
Ans X1 109
v 2 107
X3 113
X 4 111

Question ID : 9895804681
Chosen Option : 1

Q.1 Choose the option that most closely resembles the mirror image of the given word if mirror is placed at the right side.

9

RUPTURE

X 1 | ERUTdNA

Ans

X2 3RUTINS

X 3 [ 3RUTANA

v 4| 33UT9UA

Question ID : 9895804689




l Chosen Option : 4

Q.2 In a certain code, ASSUME is written as EMUASS. How will NEEDLE be written in that code?
0

Ans X 1. ELDEEN
X 2. EIDNEE
< 3. EDLNEE
v . ELDNEE

Question ID : 9895804673
Chosen Option : 1

Q.2 The statements below are followed by two conclusions labeled I and II. Assuming that the information in the statements
1 s true, even if it appears to be at variance with generally established facts, decide which conclusion(s) logically and

definitely follow(s) from the information given in the statements.

Statements:
1) All butterflies are reptiles.

2) All reptiles are mammals.

Conclusion:
L All mammals are butterflies.

I All butterflies are mammals.

Ans - X 1. Both conclusions follow.
& 2. Either conclusion I or conclusion II follows.
3. Only conclusion II follows.

4. Only conclusion I follows.

Question ID : 9895804678
Chosen Option : 2

%2 Choose the odd one out of the given options.
Ans X 1. Fox
2. Tiger
v 2 Crocodile
< 4 Lion

Question ID : 9895804669
Chosen Option : 3

Q.2 Eight friends A, B, C, D, E, F, G and H are sitting around a circular table facing each other for a lunch. A is opposite F
3 and third to the right of B. G is between F and D. H is to the left of D. E is between C and A. Who is sitting second to
the left of C?

Ans X1 D
voF
X3 B
Xa A

Question ID : 9895804676
Chosen Option : 2

Q.2




Select the correct option that will fill in the blank and complete the series.

MHW, KJU,ILS, GNQ, ___?

Ans 1 EPQ
v 2. EPO
X< 3. FPO
X 4. EOP

Question ID : 9895804667
Chosen Option : 3

Q.2 Select the option that is related to the third term in the same way as the second term is related to the first term.
° Iran : Rial : : Traq : ?

Ans X1 War

X 2. Dirham

v 2 Dinar

X 4. Rial

Question ID : 9895804670
Chosen Option : 3

oz is the outermost range of the Himalayas.

Ans X1 Himadri
2. Pir Panjal

X 3. Kailash

v« Shivalik

Question ID : 9895802429
Chosen Option : 2

Q2 Which of the following is NOT a digital transaction in India?

Ans  of 1 Cash transaction

& 2. Credit card transaction
X 3. PayTM

/< 4. ATM transaction

Question ID : 9895802434
Chosen Option : 2

Qéz Who is called the “The iron man of India”.

Ans  of 1 Vallabhai Patel
& 2. MK Gandhi
3. Bal Gangadhar Tilak

& 4. Jawaharlal Nehru

Question ID : 9895802424
Chosen Option : 3

Q.2




was an Indian film entry for 90t Oscar Award in 2018.
ans X1 Raazi
X 2. Zero
v 3 Newton
4. Sanju

Question ID : 9895802442
Chosen Option : 4

%% In a democracy, the ruling party is accountable to
Ans 1. the judiciary
X 2 ts leaders

3. the opposition

4. the people

Question ID : 9895802435
Chosen Option : 4

Q.3 The process by which similar genetically identical individuals can be produced is called
1

Ans

[uny

. reproduction
2. cloning

3. scanning

N

. photosynthesis

Question ID : 9895802445
Chosen Option : 1

Q2'3 Whose greatest achievement was the setting up of the Brahmo Samaj?

Ans X 1. BR Ambedkar
& 2. Aurobindo Gosh
3. Raja Ram Mohan Roy

& 4. Vivekanandha

Question ID : 9895802426
Chosen Option : 3

%3 Which of the following is NOT an amalgam?

Ans of 1 Solder
&< 2. Silver
< 3. Bronze
X 4. Brass

Question ID : 9895802448
Chosen Option : 1

Q.3 The resources obtained from biosphere and have life such as human beings, flora and fauna, fisheries, livestock etc. are
4 called :

Ans




v 1 biotic resources

2. potential resources
/< 3. abiotic resources
/< 4. renewable resources

Question ID : 9895802430
Chosen Option : 1

%3 Rabi crops are sown in
Ans 1. April-May

v 2. October-November
/< 3. May-June

4. January-February

Question ID : 9895802432
Chosen Option : 1

Qé3 ___ aim(s) at creating self-employment opportunities in rural areas.
Ans 1. The Rural Employment Generation Programme

2. Anti-Poverty Programmes

3. The Pradhan Mantri Ujjwala Yojana

4. The Pradhan Mantri Gramodaya Yojana

Question ID : 9895802433
Chosen Option : 3

Q3 The battle of Plassey was fought in the year

Ans X 1. 1957
&< 2. 1900
X 3. 1857
v 41757

Question ID : 9895802425
Chosen Option : 1

Qé3 Shankar's International Dolls Museum is situated in

Ans X 1. Pune
X 2. Kolkata
& 3. Mumbai
v 4. New Delhi
Question ID : 9895802438
Chosen Option : 1
S discovered the solar system.

Ans 1. Murphy
< 2. Newton




3. Copernicus
< 4. Vasco Da Gama

Question ID : 9895802441
Chosen Option : 1

Qs is/are responsible for water transportation in plants.

Ans 1. Chloroplast

/2. Phloem
X 3. Veins
4. Xylem
Question ID : 9895802446
Chosen Option : 4
Q.4 was the captain of the 1948 Indian national field hockey team that won the first gold in Olympics.

Ans 1. Akashdeep Singh
2. Sardar Singh

v 3 Kishan Lal
4. Manpreet Singh

Question ID : 9895802428
Chosen Option : 4

Q2'4 The Chief of Election Commission is appointed by the

Ans - X 1. Central Government
/< 2. Central Government
/< 3. Chief Justice of India
v 2 President of India

Question ID : 9895802436
Chosen Option : 4

%* The book ‘The Paradoxical Prime Minister’ is written by

Ans - X 1. Ashok Gehlot
2. Dr Man Mohan Singh

3. Jyotiraditya Scindia
v 4. Shashi Tharoor

Question ID : 9895802443
Chosen Option : 2

Qf What is NOT one of the main duties of the Election Commission?
Ans - X 1. Control and conduct elections
2. Supervise elections

X 3. Direct elections
v 2 Don’t Conduct local elections




Question ID : 9895802437
Chosen Option : 3

%* The famous shehnai player of India is

Ans o 1. Bismillah Khan
& 2. Ravi Shankar
& 3. Latif Khan
< 4. Hari Prasad

Question ID : 9895802439
Chosen Option : 1

%4 Which is NOT a part of the urinary system?
Ans 1. Urinary bladder
& 2. Ureter

v 3. Bronchi
X 4 Urethra

Question ID : 9895802447
Chosen Option : 2

Q7'4 The Indian musician has won an Academy Award.

Ans X' 1. RD Barman
v 2. AR Rahman
3. Sonu Nigam

X 4. Anu Malik

Question ID : 9895802440
Chosen Option : 2

Qé“ The is the highest battlefield in the world.
Ans 1. Gangotri Glacier

/< 2. Hari Parbat Glacier
& 3. Nubra Glacier
« 4 Siachin Glacier

Question ID : 9895802431
Chosen Option : 4

Q9-4 was the first Indian gymnast to win a gold medal at a global event.

Ans - X 1. Hima Das
X 2. Sakshi Malik
# 3. Seema Punia
4. Deepa Karmakar

Question ID : 9895802427
Chosen Option : 3




%° Molecular formula of gold is

Ans of 1. Au
X2 Ag
X3 G
X4 Al

Question ID : 9895802444
Chosen Option : 2

Q.5 A car covers a certain distance at a speed of 48 km/hr in 14 hours. How much time it will take to cover the same
1 distance at the speed of 84 km/hr?

Ans X1 6 hr
v ghr
<3 9hr
X4 12hr

Question ID : 9895804301
Chosen Option : 2

Q.5 Marked price of an article is 60% more than its cost price. If the article is sold at a profit of 20%, then what will be the
2 discount percentage?

Ans X 1. 37.5%
X 2. 17.5%
X 3 15%
v i 25%

Question ID : 9895804289
Chosen Option : 3

Q.5 12 persons can complete half of a work in 9 days. How many persons can complete the same work (whole) in 6 days?

3

Ans (1, 36
X 2 45
X 3. 48
X4 42

Question ID : 9895804300
Chosen Option : 3

Qf’ If 4 is 20% less than B, then what will be the value of (2B —4)/4?

Ans X1 3/4
v 32
<3 3/5
X4 473

Question ID : 9895804291
Chosen Option : 2

%5 What is the value of 10— [6 —4 — (2+ 1 — 2)]?
Ans X]_,




Q212
X3 14
g

Question ID : 9895804285
Chosen Option : 4

% Whatlsthevalueof[22—--—0f(8-""‘4 2-")]

~< 137
< 2 91/213
v 58
< 4.91/199

Question ID : 9895804286
Chosen Option : 4

Q.5 After giving a discount of 25%, a shopkeeper earns 40% profit. Marked price is what percent more than the cost price?
7

X< 1. 80%
X 2. 75%
v 3 86.67%
X 4. 85%

Question ID : 9895804292
Chosen Option : 3

Q.5 Mohit starts moving from a place 4 and reaches the place B in 12 hours. He covers 1/5th part of the total distance at the
8 speed of 6 km/hr and covers the remaining distance at the speed of 8 km/hr. What is the distance between 4 and B?

v 1 90 km
< 2. 95 km
< 3. 60 km
X 4 75km

Question ID : 9895804302
Chosen Option : 3

Q.5 A sum of T 4200 becomes ¥ 5082 in 3 years rate simple interest. What is the rate of interest per annum?
9

X1 8%
< 2. 9%
X3 5%
v i 7%

Question ID : 9895804297
Chosen Option : 2

Q.6 The bar chart given below shows the ratio of expenditure to revenue for seven consecutive years Y1, Y2, Y3, Y4, Y5,
0 Y6andY7.

(m
oxn .,7, oxu 070 075 I

Y| v1 YJ Y4 vs Y6 Y7

The profit percentage is lowest for which year?

Ans




X1 Y4
v Y7
& 3. Cannot be determined

X4 Y3

Question ID : 9895804306
Chosen Option : 3

Q.6 The compound interest on a sum for 4t year is 6000 and compound interest for sth year is ¥ 6750 (interest is
compounded annually). What is the rate of interest?

Ans X1 25%
X 2. 20%
v 3 12.5%
X 4 15%

Question ID : 9895804298
Chosen Option : 2

Q.6 What will be the ratio of Highest common Factor and Least Common Multiple of two numbers 16 and 20?
2

Ans X1 ]:25
X2 4:63
v 1:20
X4 1:10

Question ID : 9895804284
Chosen Option : 3

Q.6 The sides of a triangle are in the ratio 4 : 3 : 2. If the perimeter of the triangle is 63 cm, then what will be the length of
3 the largest side?

Ans of 128 cm
< 2 35cm
&3 2lcm
X 4 42cm

Question ID : 9895804295
Chosen Option : 4

Q.6 A and C together can complete a work in 120 days, C and E together can complete the same work in 80 days and 4 and
4 Etogether can complete the same work in 160 days. In how many days 4. C and E together can complete the same

work?

Ans 1. 120/13 days
2. 480/13 days
3. 240/13 days
4. 960/13 days

Question ID : 9895804299
Chosen Option : 2

Q.6 Ramesh purchases 75 articles for Z 10800 and sells them at a loss equal to the selling price of 5 articles. What will be
5 the selling price of one article?

Ans X' 1.3 156
v 2 %135




X 33144
X4 7132

Question ID : 9895804293
Chosen Option : 3

Q.6 The length, breadth and height of room is 16 metres, 12 metres and 15 metres. What will be the length of the largest rod
6 that can be placed in that room?

Ans X 1. 20 metres
& 2. 18 metres
v 3. 25 metres
& 4. 24 metres

Question ID : 9895804304
Chosen Option : 3

Q.6 The volume of a right circular cone is 2464 cm?. If the height of cone is 12 cm. then what will be the radius of its base?

7

Ans X112 cm
X 2 8cm
v 3 14cm
& 4 10 cm

Question ID : 9895804303
Chosen Option : 3

Q.6 The volume of a right circular cone is 1232 cm?. If the height of cone is 24 cm. then what will be the radius of its base?

Ans X 1.9 cm
v 2 7cm
& 3 8cm
X 4 5cm

Question ID : 9895804305
Chosen Option : 3

Q.6 Ifa 12 years old boy is replaced by a new boy, then the average age of 18 boys increases by 1.5 years. What is the age
9 of the new boy?

Ans 1. 35 years
X 2. 37.5 years
&< 3. 43 years
o 2 39 years

Question ID : 9895804287
Chosen Option : 2

Q.7 The average of 8 numbers is 44. If a constant ‘¥” is added to each number, then average becomes 47. What is the value
0 ofr?

Ans XL 21
V23
X3 8
X 24

Question ID : 9895804288




l Chosen Option : 2

QT IfX:Y=7:5and Y: Z="7: 11, then what is the ratio of X : ¥: Z?

Ans X130 :35:49
2 49:35:55
* 3. 7:5:11
XK 4.49:30:55

Question ID : 9895804294
Chosen Option : 3

QT IfP:Q=5:6andR: Q=25 :9, then what is the ratio of P : R?
Ans X1 10: 13

X210:3

v33:10

K4 13:10

Question ID : 9895804296
Chosen Option : 2

Q.7 The pie chart given below shows the time taken in 7 different procedures J1, J2, J3, J4, J5, J6 and J7 in making a car as
3 a percentage of total time taken. The total time taken in making one car is 1200 hours.

b n
12% 14%

2
8%

34 33
20%

‘What is the difference between the time taken in processes J1 and J4?

Ans X 1. 96 hours
v 2. 72 hours
< 3. 60 hours
< 4. 84 hours

Question ID : 9895804308
Chosen Option : 1

Q‘-17 The data given below shows the number of people who have saved a certain amount of money.

Savings | Number
(in) |of
people

5 1

15 3

20 4

25 2

30 1

35 1

40 2

‘What is the mean saving per person?




Ans X1 3 28.89
X 2 22157
v 3 32321
X 422554

Question ID : 9895804290
Chosen Option : 3

Q.7 The pie chart given below shows the time taken in 7 different procedures J1. J2, J3, J4, J5, J6 and J7 in making a car as
5 apercentage of total time taken. The total time taken in making one car is 1200 hours.

7 1
12 14%

36
16% 2
18%

%
34 13
% 20%

‘What will be the total time taken in procedures J2 and J5?
Ans X 1. 396 hours
/< 2. 240 hours
< 3. 312 hours
v 4. 360 hours

Question ID : 9895804307
Chosen Option : 3

Section : English Language

Q1 Select the most appropriate word to fill in the blank.

The telephone was by Alexander Graham Bell.

Ans - X 1. discovered
v 2. invented
& 3. researched
& 4. found

Question ID : 9895804164
Chosen Option : 2

Q2 Select the correctly spelt word.
Ans - X1 Acommodate

& 2. Accomodate

& 3. Akommodate

v 4 Accommodate

Question ID : 9895804181
Chosen Option : 4

Q3 Select the option that means the same as the given idiom.

Like a cakewalk
Ans X" 1. Not too easy

2. Quite difficult




3. Extremely difficult

4. Extremely easy

Question ID : 9895804177
Chosen Option : 4

Q.4 From the given options, identify the segment in the sentence which contains the grammatical error.

On the eleventh hour, she retired from the contest, leaving the field open to her opponent.

Ans - X 1. retired from

2. to her opponent

v 3. On the eleventh hour
4. leaving the field

Question ID : 9895804156
Chosen Option : 3

Q5 Select the option that means the same as the given idiom.

To be under the weather
Ans 1. To feel very cold

v 2. To not feel well
3. To feel very hot

X 4. To get very wet

Question ID : 9895804176
Chosen Option : 4

Q6 Select the correctly spelt word.
Ans X 1. Hanckerchief
2. Hangerchief

& 3. Hankerchief
v Handkerchief

Question ID : 9895804180
Chosen Option : 4

Q7 Select the antonym of the given word.

SAVAGE

Ans  of 1. Civilized
< 2. Tribal
< 3. Rustic
& 4. Stern

Question ID : 9895804172
Chosen Option : 1

Q.8




Select the most appropriate word to fill in the blank.

This question will be discussed at the meeting
Ans X 1. yesterday
v 2. tomorrow
3. last year
X 4. last week

Question ID : 9895804165
Chosen Option : 4

Q.9 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
substitute it, select No Improvement.

A city court ordered the immediate release of a professor described his arrest as illegal.

Ans 1. describing his arrest
2. No improvement
3. describing their arrest

4. describing an arrest

Question ID : 9895804160
Chosen Option : 3

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
0 substitute it, select No Improvement.

Australia recorded its hot month in January with sweltering conditions expected to persist through April.
Ans X 1. jts hotter month
v 2. its hottest month

3. No improvement

& 4. its more hotter month

Question ID : 9895804159
Chosen Option : 2

Q.1 From the given options, identify the segment in the sentence which contains the grammatical error.

A woman’s real character will always be more visible in his household than anywhere else.

Ans X 1. real character

2. than anywhere else

v 3. in his household
4. will always be

Question ID : 9895804157
Chosen Option : 2

Comprehension:




In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

I have just (1) that it is your birthday on Saturday and so I

send you my best wishes. I hope the day itself will be (2)

and happy for you. May you be showered (3) health and
happiness for all the years to come. I take this opportunity of
(4) you from the bottom of my heart for all you have done for

AR () &
SubQuestion No : 12

Q2'1 Select the most appropriate option that will fill in the
blank number 1.

Ans of 1 remembered
#< 2. remember
3. remembering

#< 4. remembers

Question ID : 9895804167
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

I have just (1) that it is your birthday on Saturday and so I

send you my best wishes. I hope the day itself will be (2)

and happy for you. May you be showered (3) health and
happiness for all the years to come. I take this opportunity of
(4) you from the bottom of my heart for all you have done for

e )
SubQuestion No : 13

Q3'1 Select the most appropriate option that will fill in the
blank number 2.

Ans - X 1. syitable
& 2. excited
3. plentiful

4. peaceful

Question ID : 9895804168
Chosen Option : 2

Comprehension:




In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

I have just (1) that it is your birthday on Saturday and so I

send you my best wishes. I hope the day itself will be (2)

and happy for you. May you be showered (3) health and
happiness for all the years to come. I take this opportunity of
(4) you from the bottom of my heart for all you have done for

e - 5)
SubQuestion No : 14

Q! Select the most appropriate option that will fill in
the blank number 3.

Ans ?(1- by
v 2 with
& 3. from
X 4 of

Question ID : 9895804169
Chosen Option : 3

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

I have just (1) that it is your birthday on Saturday and so I

send you my best wishes. I hope the day itself will be (2)

and happy for you. May you be showered (3) health and
happiness for all the years to come. I take this opportunity of
(4) you from the bottom of my heart for all you have done for

AR | §
SubQuestion No : 15

Qél Select the most appropriate option that will fill in
the blank number 4.

Ans 1. greeting
2. thanking
3. congratulating

4. wishing

Question ID : 9895804170
Chosen Option : 2

Comprehension:




In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

I have just (1) that it is your birthday on Saturday and so I

send you my best wishes. I hope the day itself will be (2)

and happy for you. May you be showered (3) health and
happiness for all the years to come. I take this opportunity of
(4) you from the bottom of my heart for all you have done for

A5
SubQuestion No : 16

%L Select the most appropriate option that will
fill in the blank number 5.

Ans of 1 me
< 2 them
/< 3 him
< 4 her

Question ID : 9895804171
Chosen Option : 3

Q.1 From the given options, identify the segment in the sentence which contains the grammatical error.
7

A great fortune in the hands of a fool are a great misfortune.

Ans 1. A great fortune

X 2. of a fool
& 3. in the hands
« 2 are a great

Question ID : 9895804158
Chosen Option : 3

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
8 substitute it, select No Improvement.

As you make your way in the interior of Red Fort, lush green gardens greet you.

Ans of 1. into the interior of

2. No improvement
3. along the interior of

& 4. on the interior of

Question ID : 9895804161
Chosen Option : 3

%! Select the most appropriate word to fill in the blank.

The flight of birds _ a pretty sight to watch.
Ans - X 1. have
X 2. are
VERT
X 4 has




Question ID : 9895804163
Chosen Option : 3

Q(')Z Select the word which means the same as the group of words given.

One who repairs leaking water pipes.
Ans X 1. Blacksmith
#< 2. Carpenter
# 3. Mason
v 4 Plumber

Question ID : 9895804178
Chosen Option : 4

Ql'z Select the synonym of the given word

EVERILASTING
Ans 1. Equal

v 2. Eternal
3. Especial

X 4. Essential

Question ID : 9895804175
Chosen Option : 2

QZ'Z Select the word which means the same as the group of words given.

One who treats skin diseases
Ans 1. Cardiologist

2. Dermatologist
3. Radiologist

4. Gynecologist

Question ID : 9895804179
Chosen Option : 2

Q3'2 Select the antonym of the given word.

COMPULSORY
Ans 1. Optional

X 2. Essential
< 3. Important

& 4. Choice

Question ID : 9895804173
Chosen Option : 4

Q.2




Select the synonym of the given word.

FANATIC

Ans o 1 Enthusiast
/X 2. Fantastic
# 3. Famed
X 4. Great

Question ID : 9895804174
Chosen Option : 4

%2 Select the most appropriate word to fill in the blank.

Mother cuts vegetables a knife.
Ans x 1. by

X 2 from

v 3. with

X 4 off

Question ID : 9895804162
Chosen Option : 3

Section : Hindi Language

' R W 1 R F T TEd 39gFT Uqeg F TS HY

S o T giciE:ciel

AL R
X o @E
3. A

4 B3

Question ID : 9895803527
Chosen Option : --

©* T T g F HAEE T

Question ID : 9895803535
Chosen Option : --

Q.3




T 1w amF &7 37 AT A w TEE F5 IR 2

AT H T AFaemer e ¥ $F S S J67
- & F@r grarl

AT H T

- erfFaemelr aeT &

o ¥ FTET

Ans

[E=N

N

w

Question ID : 9895803518
Chosen Option : --

¥ Rea T A R & T TaY 39gET oeg H 99T
37T T ¢ fewam

Ans X1 gl
R
i
4. 3797

Question ID : 9895803525
Chosen Option : --

¥ R T F s F T TaE 39 Aeg 1 TS A

= Ry 48 ¥
as o 1 AT
2
. oY
X s @

Question ID : 9895803526
Chosen Option : --

Q6 R srv amw & Wwifra s & wfarnfa == ¥ BT gaw sugea e &1 797 FY
&t aFg & a9 9% A& FH FAT 7 TF IHD! JETRAT A Bl g

L FE Jh TP HERTHAT
X 2 J§ Tk IHEHT HETHAT
3. JF T 3D HGTHAT
4 FF ok FHA HTFITHAT

Ans

Question ID : 9895803523
Chosen Option : --

Q7




Rera v &1 o & AT Fa@ 39T g H ThS H

FSH TG AeF
as X L3
X 2 AT
X3 gH
(4.33’

Question ID : 9895803524
Chosen Option : --

°° R T TR ¥ AT v aeg gAw
AE T JreT
Ans 1'@31-'&
2. QITeRTETY
3 FTATEIY
4. IEIERY

Question ID : 9895803540
Chosen Option : --

O gEr a3 I o T TIT HY
Ans ) 3TOTITY

Question ID : 9895803543
Chosen Option : --

U RT AT oeg F TAATET o F TTT F|
ICEIG]

N

Ans 1. .&Qa_j,

Question ID : 9895803536
Chosen Option : --

Qil e 7w am # wwifea @ # sfornfa & & B wew s9ged fFeT &1 99w
T 30T NI g FE W HRA §, FET A 8 S § sic 9390




" e e
> TEFD R FA
. TEeEE o e ¥

Question ID : 9895803522
Chosen Option : --

Q1 R 1w I/ & 98 ST A F EH FS I 7| AT F T FT QT TRAA T 37H & Y
2 3k 3T FTF 98 WHEET F A O T B

L ofisH TF eTE & §
2 AR W WF TE
5. HIST HT FHeIAT H T

Ans

4 TSI S 9T 9T o gl

Question ID : 9895803520
Chosen Option : --

Qél e 71w arw # wwifea @3 # sfarnfa & & v wew saged fFeT & a9

asia?u_gw;@nmﬁmaﬁwqtﬁ@mm|

K T ¥ e # e W
. Y ¥ FOA ¥ E W
3 U H ASO! H HEG W
. U H AT 1 HE W

Question ID : 9895803521
Chosen Option : --

Q41 Frafafea # @ 38 Rwey & 999 T ' 359§ ' TR F Y wEd FA g

A g W
2. T T AT
S.H\!ﬂ'm

4. 3o P TG SATETAT

Question ID : 9895803538
Chosen Option : --

Comprehension:




T 17 =i # o weg gar Ry v § fRw v Rt
e ¥ R e s ye3w e & o wew sugea
e F1 I FL

TER H HYUT HA A T aEg T gl HAT FFH
gRfeufaat & (1) ST T@T g1 SHHT FIS TH TIAT
At me W araw § B oW wwT '

T F (3) W g BT §, 3H THT 3W T FTT &
& a8 (4) FT T T AT ¢ AT 3TF TH /W T
IEG T AT F (5) gl

SubQuestion No : 15
% Ty # g Rea we (1) F R swEa awe @
Ans 1. AT

Question ID : 9895803529
Chosen Option : --

Comprehension:

T 717 = # o weg gar Ry v § fRw v et
e ¥ R e s ye3w g & o wew s9ged
e F1 T FL

TER H HYUT A A T aEg T T HAT FFH
gRfeufaat & (1) SEIaT TEaT g1 SHHT P Teh TIAT
(2) & B Twdr W s A 7 § B orw vy =@

T F (3) W g BT §, 3H THT 3W T T TT &
& a8 (4) FT T a7 AT ¢ AT 3TF TH R/ T
IEG T AT F (5) &l

SubQuestion No : 16

% Teary # wHaa Rea T (2) F e swged e gem
Ans 1-%1%

Question ID : 9895803530
Chosen Option : --

Comprehension:




e 71w ag=de & o U gar Ry 1w § fRw v Rt $
e ¥ R v | ge3w e & o wew suged
e FT T FL

TER H HYUT A A H a8 T2 gl HAT FFH
gRfeufaat & (1) ST T@AT g1 SHHT FIS TH TIAT
At me W araT ™ oW awT '

T F (3) W g BT §, 3W THT 3W T T &
& a8 (4) FT T 937 AT ¢ 3T 3TF TH R/ T
IEG T AT F (5) gl

SubQuestion No : 17
% ez # gHfaa Rea T (3) F v sugEd e @

Ans 1 aTeT
X< 2 g
V' AR

. fadka

Question ID : 9895803531
Chosen Option : --

Comprehension:

T 71T = # o weg gar Ry 7w § Rw v et #
e ¥ R e s ye3w e & o wew s9ged
e F1 T FL

TER H HYUT A A T aEg T el HAA R
gRfeufaat & (1) SEIaT T&aT g1 SHHT P Teh TIAT
(2) & B Twdr W s o 7 § B orw vy =@

T F (3) W g BT §, 3W THT 3W T T TT &
& a8 (4) FT T F37 AT ¢ 3T 3TF TH R/ T
IEG T AT F (5) gl

SubQuestion No : 18
% Tegre # wHad Rea T (4) F e s9ged e gem

Ans

L AR
X 2. 9gIs
v s FT

4. forr

Question ID : 9895803532
Chosen Option : --

Comprehension:




e 71w ag=de & o U gar Ry 1w § fRw v Rt $
e ¥ R v | ge3w e & o wew suged
e FT T FL

TER # HYOT AT A H T€G AGT eIl HAH IHFE
gRfeufaat & (1) SEIaT T&aT g1 SHHT P Teh TIAT
At me W araT ™ oW awT '

T F (3) W g BT §, 3W THT 3W T T &
& a8 (4) FT T 937 AT ¢ 3T 3TF TH R/ T
IEG T AT F (5) gl

SubQuestion No : 19

% were & wHfaa Rea T (5) F v sugsa we @em

Ans 1. Qlé'
X 2 ST
P

4 JeR

Question ID : 9895803533
Chosen Option : --

Q.2
* faw AT oreg T fARNH A

3FT

Ans 1. W
v o FsT

3. ST
4 Hamgr

Question ID : 9895803534
Chosen Option : --

U T I3 T oeg F TIAT HY

ANS 1 e

Question ID : 9895803542
Chosen Option : --

Q2-2 Pl & ¥ 35 RFeT 1 T Y N T G T A FEE F AT wwd B g

ANS L T g
2 Uk G W AT




&ﬁaaﬁwamm

4 FIT o H=ST F AT

Question ID : 9895803539
Chosen Option : --

% R T weg ¥ TATAEN oeT T AT F

Question ID : 9895803537
Chosen Option : --

—

% R T ae F R o e gl
S oA sueE 7 @

Ans 1'3.3?

2. PETT

e
X 4. TG

Question ID : 9895803541
Chosen Option : --

Q2 R av g & g 6T A HY o #E IR 1 weh Afgerd gEEd e Rewa arer @ a geerf
5 & weemit F 3Ry 7 A

el gfE T Ee

2. fgFHa arerm giar ar
2wl Afga? gEerr e
s TEETE & TEAI H

Question ID : 9895803519
Chosen Option : --
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Q.1 Select the option that is related to the third term in the same way as the second term is related to the first term.

Myanmar : Kyat : ; Pakistan ; ?
Ans - X 1. Dirham
X 2. Rial
« = Rupee
X 4 Dinar

Question ID : 9895804695
Chosen Option : 3

Q.2 Select the option that is related to the third number in the same way as the second number is related to the first number.

22:628::1342
Ans X 1. 221
X 2. 169

W 3 256

X 4 144

Question ID : 9895804707
Chosen Option : 3

Q.3 Eight friends A, B. C. D. E. F. G and H are sitting around a circular table facing each other for a lunch. A is opposite F
and third to the right of B. G is between F and D. H is to the left of D. E is between C and A. Who is sitting third to the
right of C?

s K 1@
X2 A
v H
XD

Question ID : 9895804701
Chosen Option : 3

Q.4 Select a figure from amongst the four alternatives that when placed in the blank space (?) of figure X will complete the
pattern. (Rotation is NOT allowed).

Al

9

Ans
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.

X i

le IIIl

&
==

Question ID : 9895804712
Chosen Option : 4

Q5 Select the correct option that will fill in the blank and complete the series.

NIX. LKV, ]IMT, HOR,

Ans X1 FQQ
X 2. FOP
X 3. FQO
« 2 FQP

Question ID : 9895804692
Chosen Option : 4

Q.6 A square transparent sheet witha pattem is given. How will the pattem appear when the transparent sheet is folded

along the dotted line?
AN
NS
Ans
X 1 LN
;
EA— -

x . LGN

i o

x 5 LN

Question ID : 9895804715
Chosen Option : 4

Q.7
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Which number will follow next in the given number series?

8,9,17, 44,2
Ans - X 1105

X 2100

v 2 108

X 4103

Question ID : 9895804706
Chosen Option : 3

@8 Choose the odd number out of the given options.

Ans X 1. 718
X 2. 415
v 3 545
X 4 314

Question ID : 9895804708

Chosen Option : 3

Q.9 Select the option that is related to the third term in the same way as the second term is related to the first term.

Larva: Insect :: Lamb: ?

Ans - X 1. Deer
& 2. Child
X 3 Lion
o 4. Sheep

Question ID : 9895804696

Chosen Option : 4

Q.1 The statements below are followad by two conclusions labeled T and TI. Assuming that the information in the statements
is true. even if it appears to be at variance with generally established facts. decide which conclusion(s) logically and
definitely follow(s) from the information given in the statements.

Statements:
1.) All pupils are crows.

2.) All cats are crows.

Conclusion
L Some cats are pupils.

I.  No catis pupil.
Ans X 1. Both conclusions follow.

/< 2. Only conclusion I follows.
' 3. Either conclusion I or conclusion II follows.
/< # Only conclusion II follows.
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Question ID : 9895804703
Chosen Option : 3

Q.1 J.KL.M. N and O are six teachers. Each one teaches a different subject out of Hindi. English, Math. Science, Social

1 science and Arts, NOT necessarily in the same order. Each of them teaches on only one day, from Monday to Saturday.
NOT necessarily in the same order, J teaches Arts on Saturday. L teaches neither English nor Social Science. but he
teaches on Thursday. Wednesday is reserved for Maths taught by K. O teaches Science a day before N. Social Science is
taught a day before Arts. Who teaches Social Science?

Ans of 1. M
X220
X3 N
Xa7J

Question ID : 9895804702
Chosen Option : 1

%! Choose the option in which the figure marked ‘X’ is embedded.

Ans

~

Question ID : 9895804713
Chosen Option : 1

Q3-1 In a certain code, SPADE is written as 45. How will ABODE be written in that code?

Ans X 1. 29
X 2 59
Vs 27
X 4 39

Question ID : 9895804699
Chosen Option : 3

Q.1
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The statements below are followed by two conclusions labeled I and TI. Assuming that the information in the statements
is true, even ifit appears at variance with generally established facts, decide which conclusion(s) logically and definitely
follow(s) from the information given in the statements.

Statements:
1.) Some guns are spiders.

2.) Some spidersare peasants.

Conclusion
15 Some guns are peasants,

I.  Some peasantsare guns.
Ans - X 1. Both conclusions follow.

' 2. Neither conclusion I nor conclusion II follows.
/< 3. Only conclusion II follows.

/< 4. Only conclusion I follows.

Question ID : 9895804704
Chosen Option : 2

Q5-1 Select the option that will correctly replace the question mark (?) in the given pattern.

5 15| 6

7 512

32 | 230 | 42

Ans Jl.ﬁ
X 213
X309
X411

Question ID : 9895804709
Chosen Option : 1

Qs'l Select the Venn diagram that best represents the given set of classes.

Nepal, Asia, Kathmandu

Ans

v

X 2.

O

506©
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X a

Question ID : 9895804716
Chosen Option : 1

Q.1 Seven friends O, P, Q. R. S. T and U are watching a movie sitting in a row. S is sitting at one extreme end. Q is sitting
7 secondto the right of S. P is sitting between O and Q. U is NOT sitting at any extreme end. R is sitting to the left of T,
‘Who is sitting at the extreme left end?

Ans X1 Q
X2R
X3P
vis

Question ID : 9895804700
Chosen Option : 4

Q.1 In acertain code. UNHAPPY is written as PPYAHNU. How will FALLACY be written in that code?
8

Ans X 1. ACYLALF
v 2. ACYLLAF
X 3. YCALLAF
X 4. ACYLAAF

Question ID : 9895804698
Chosen Option : 2

%' Which number will follow next in the given number series?

3.16.29,42.?
Ans X 1. 61

X2 57

3 55

X 4 54

Question ID : 9895804705
Chosen Option : 3

%2 Choose the odd one out of the given options.
Ans X 1. DEP

X 2 BFQ

v 3 IPC

X 4 LHE

Question ID : 9895804693
Chosen Option : 3

Q.2
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1 Find out the two signs to be interchanged to make the following equation correct.

22+ 11x22-2+-3=45

Ans - X 1 x and +
X 2 -and x
X 3 -and +
W 4 +and+

Question ID : 9895804710
Chosen Option : 4

Q-2 Choose the option that most closely resembles the mirror image of the given word when mirror is placed at right side.

SEQUEL

s )
1 J3up3e
X 2. JEUD3S

An

3. JEUD32
X 4 J3UD32

Question ID : 9895804714
Chosen Option : 1

Q3'2 Choose the odd one out of the given options.
Ans X 1. Eagle

X 2. Crow

X 3. Owl

v 4 Ostrich

Question ID : 9895804694
Chosen Option : 4

Qf Choose the option that would follow next in the given figure series.

Pl R & ¥ ?

ol R

Ans
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.k
v :é,

Question ID : 9895804711
Chosen Option : 4

Q.2 Select the option that is related to the third term in the same way as the second term is related to the first term.

ACG:DFD::CIU:?
Ans Jl_ FLR
X 2 RLL
X 3. LFR
X 4. EGF

Question ID : 9895804697
Chosen Option : 1

%2 What does PMGY stands for?

Ans o 1. Pradhan Mantri Gramodaya Yojana
X 2. Pradhan Mantri Gram Yojana
X 3. Pradhan Mantri Gareeb Yojana
/< 4. Pradhan Mantri Gurukul Yojana

Question ID : 9895802508
Chosen Option : 1

Q.2 is the highest military decoration awarded for displaying distinguished acts of valour during war.
7

Ans X 1. Mahavir Chakra
' 2. Param Vir Chakra
X 3. Sena Medal
X 4. Shaurya Chakra

Question ID : 9895802516
Chosen Option : 2

%2 ‘Deuce’ is a term associated with
Ans - X 1. baseball

X 2 cricket

< 3. hockey

« 2 lawn tennis

Question ID : 9895802502
Chosen Option : 1




4/27/2019 https://ssc.digialm.com//per/g21/pub/2207/touchstone/AssessmentQPHTMLMode1//220701827/220701827S6D29545/1552482130...

%? Garba is a folk dance which originated in
Ans X 1. Rajasthan
X 2. Maharashtra

X 3. Bihar
« 4. Gujarat
Question ID : 9895802513
Chosen Option : 4
Q63 After Independence, became India’s first Deputy Prime Minister.

Ans - X 1. Morarji Desai
' 2. Sardar Vallabhai Patel
X 3. Jagjivan Ram
/< 4. Charan Singh

Question ID : 9895802500
Chosen Option : 2

Q3 Zamindari System was introduced by in 1793.
Ans - X' 1. Curzon
v 2. Cornwallis

X 3. Clint
X 4 Clive
Question ID : 9895802499
Chosen Option : 2
Q2-3 Among the following options, is the highest mountain peak of the Himalayas in India.

Ans  of 1. Kanchenjunga

X 2. Namcha Barwa
X 3. Nanda Devi
X 4. Mount Everest

Question ID : 9895802506
Chosen Option : 1

% Which of the following are NOT Trade Barriers?
Ans X 1. Embargo

X 2. Subsidies

« 3. Export Security

X 4. Tariff Barriers

Question ID : 9895802509
Chosen Option : 2

Qf The vast meadows in the high elevation ranges of the Himalayas are called
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Ans - X 1. Green meadows
X 2. Bhabar

« 3. Bugyal
X 4. Maru

Question ID : 9895802501
Chosen Option : 1

https://ssc.digialm.com//per/g21/pub/2207/touchstone/AssessmentQPHTMLMode1//220701827/220701827S6D29545/1552482130...

Q53 s the harvest festival of Kerala.
Ans X 1. Pongal

X 2. Lohri

X 3. Baisakhi

+ 4. Onam

Question ID : 9895802515
Chosen Option : 4

Qé3 ‘Who was the only Pakistani national who was awarded the Bharat Ratna?

Ans o 1. Khan Abdul Ghaffar Khan
& 2. Benazir Bhutto

X 3. Nawaz Sharif

X 4 Imran Khan

Question ID : 9895802517
Chosen Option : 1

Q7'3 The river is the only natural water source that drains inside a lake in the desert.

Ans X 1. Ganga
« 2 Luni
X 3. Teesta
X 4 Kali

Question ID : 9895802504
Chosen Option : 2

QéB is the largest democracy the world.

Ans - 1. Sweden
X 2. Norway
v 2 India
X 4 Iceland

Question ID : 9895802510
Chosen Option : 3

Qé3 Saikhom Mirabai Chanu received the Padma Shri award in 2018, for

Ans

X L wrestling
o 2 weight lifting
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X 3. athletics
X 4 cricket

Question ID : 9895802503
Chosen Option : 1

Q('f' The swampy belt of the northern Indian plains is known as.
Ans 1. Bhangra

v 2. Terai

X 3. Doab

X 4 Khadar

Question ID : 9895802505
Chosen Option : 2

Q1'4 The green revolution did NOT include:

Ans 1. use of advanced technology in farming.

« 2. upgradation of the roads of the village.

X 3. use of well-developed system of irrigation.

/< 4. high yielding varieties of seeds.

Question ID : 9895802507
Chosen Option : 2

Q2'4 What is the name of the first mammal clone (sheep)?
Ans  of 1. Dolly
/< 2. Sheep

X 3. Polly
X 4 Shan

Question ID : 9895802519
Chosen Option : 1

Q.4 The Bharatiya Janata Party's (BJP) origins lie in the Bharatiya Jana Sangh, founded by .
3

Ans o 1. Syama Prasad Mukherjee
/< 2. Atal Bihari Vajpayee
X 3. Lal Krishna Advani
X 4. Murli Manohar Joshi

Question ID : 9895802511
Chosen Option : 1

Qf Which of the following is NOT a classical dance form?
Ans - X 1. Kathakali

X 2% Odissi

X 3 Kathak
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« 4 Kalbeliya

Question ID : 9895802514
Chosen Option : 4

Q;’ In India, states with _ of population get more representatives.
Ans X 1. Higher Income

o 2. Larger size

X 3. Lower Income

X 4 Small Size

Question ID : 9895802512

Chosen Option : 2

Qé4 The pen name of Sampooran Singh Kalra, an Indian poet, lyricist and film director is .

Ans X 1. Taalib
X 2. Daagh

W 3. Gulzar
X 4 Arzu

Question ID : 9895802518

Chosen Option : 3

Q7'4 The brainisa partofthe  system.
Ans - X 1. circulatory

' 2. nervous

& 3. endocrine

< 4 digestive

Question ID : 9895802521

Chosen Option : 2

Q;' is called *the power house of the cell’.

Ans - X 1. Nucleus
' 2. Mitochondria
X 3. Cell membrane
/X< 4. Golgi bodies

Question ID : 9895802523

Chosen Option : 2

Q9'4 is responsible for oxygen transportation in humans.

Ans  of 1. Haemoglobin
X 2. Mucus
X 3. Melanin

X 4 Lymph
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Question ID : 9895802522
Chosen Option : 1

Q° s the best conductor of heat.
Ans - X 1. Stainless steel

v 2 Silver

X 3. Mercury

X 4 Lead

Question ID : 9895802520
Chosen Option : 3

Q.5 The average daily rainfall of town A is 105 for first 2 days of the week. 84 for next 3 days and 49 for the last 2 days of
1 the week. The tonal weeKly rainfall for town B is 455, What will be the average daily rainfall of both the towns together?

Ans of 1. 145
X 2 138
X 3 159
X 4 152

Question ID : 9895804313
Chosen Option : 1

Q.5 A train is moving with a uniform speed. Train crosses a bridge of length 340 meters in 35 seconds and a bridge of length
2 460 meters in 38 seconds. What is the speed of the train?

Ans of 1. 144 km/hr
X 2. 72 km/hr
X 3. 40 km/hr
X 4. 80 km/hr

Question ID : 9895804326
Chosen Option : 1

Q.5 If cost price of 80 articles is equal to the selling price of 50 articles. then what will be the profit percentage?

3

Ans X 1. 37.5%
X 2. 25%
v 3 60%
X 4. 40%

Question ID : 9895804317
Chosen Option : 3

Q.5 The pie chart given below shows the annual snowfall recaived by 7 states of a country. The snowfall is shown as a
4 percentage of total annual snowfall of the country.

1f the annual snowfall received by the country is 700 cm. then what is the monthly snowfall received by S5?

Ans X L 12 em
X 2 2l cm
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X3 5cm
v 4 7cem

Question ID : 9895804333
Chosen Option : 4

Q.5 IfRohit alone can complete one-fourth of a work in 32 days, then in how many days Rohit alone can complete the
5 whole work?

Ans X 1. 96 days
X 2. 64 days
X 3. 118 days
o 4 128 days

Question ID : 9895804325
Chosen Option : 4

Qé5 If X is 30% less than Yand Z is 50% less than X, then Z is how much percentage less than ¥?

Ans X 1. 75%
v 2 65%
X 3. 80%
X 4. 95%

Question ID : 9895804316
Chosen Option : 2

Q.5 The average of numbers N1 and N2 is 17. The average of numbers N2 and N3 is 44. What is the difference berween N3
7 andN1?

Ans X 1. 27
V2 54
X 3 36
X 4 35

Question ID : 9895804312
Chosen Option : 2

Q.5 Thesides of a triangle ars in the ratio 5 : 2 : 1 If the perimeter of the triangle is 88 cm. then what will be the length of
the largest side?

Ans X' 1. 38 cm
X 2. 40cm
'3 55¢cm
X 4 44cm

Question ID : 9895804328
Chosen Option : 3

Q.5 The pie chart given below shows the time taken in 7 different procedures T1. 12, J3, J4, 15, J6 and J7 in making a car as
9 a percentage of total time taken. The total time taken in making one car is 1200 hours.

‘What is the average time taken in procedures J3. J6 and /77
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Ans - X 1. 180 hours
« 2. 192 hours
& 3. 168 hours
X 4 204 hours

Question ID : 9895804332
Chosen Option : 2

Q.6 A sumof3Z 12500 gives interest of ¥ 5625 in T years at simple interest. If the rate of interest is 7.5%, then what will be
0 the value of 7

Ans X 1. 8 years
X 2. 5 years
o 3 6 years
X 4. 7 years

Question ID : 9895804322
Chosen Option : 3

Q.6 16 workers working 8 hours per day can demolish a building in 32 days. In how many days 24 workers working 12
1 houss pet day can demolish the same building?

Ans  of 1. 128/9 days
X 2. 128/3 days
X 3. 56/3 days
X 4. 56/9 days

Question ID : 9895804324
Chosen Option : 1

Q.6 Speed of Deepak and Vinod are in the ratio of 19 : 12 respectively. If speed of Vinod is 84 km/hr, then what will be the
2 speed of Deepak?

Ans  of 1. 133 kmv/hr
X 2. 126 km/hr
X 3 114 km/hr
X 4 117 km/hr

Question ID : 9895804320
Chosen Option : 1

Q3-5 The data below shows the number of students in class A having secured different marks.

Marks | Students
in class A
0-2 3
2-4 4
4-6 1
6-8 1
810 1
1012 0

What is the mean marks of class A?
Ans of 1 3.8

X2 1.6

X328

X 42
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Question ID : 9895804315
Chosen Option : 4

Q.6 Height of a right circular cone is 28 cm. If diameter of its base is 42 cm. then what will be the curved surface area of the
4 cone?

Ans X 14620 cm?
X 2 170 em?

V'3 2310 cm?
X 4 1540 cm?

Question ID : 9895804329

Chosen Option : 3

Q6 20 , 100

5 What is the value of(5~:——;- of ? +?+—9—)?
Ans X 1. 27/5
V2 23/5
X 3 18/5
X 4 31/5

Question ID : 9895804310

Chosen Option : 2

Qée If Dheeraj can cross a 100 metres wide road in 25 seconds, then what is the speed of Dheeraj?

Ans X1 14 m/s
v 2 4mis
X3 12m/s
X 4 6m/s

Question ID : 9895804327

Chosen Option : 2

Q.6 Anarticle is sold for Z 5845 after giving discount of 12.5%. What is the marked price of articte?
7

Ans of 1 F 6680
X 2. 26700
X 326800
X 4. 26600

Question ID : 9895804314
Chosen Option : 1

Q.6 If cost price of an article is ¥ 1240 and loss is 3290, then what will be the selling price of the article?

Ans X 1. 3 780.72
X 2. 3 759.60
X 3. 2820.62
W 4 2843.20

Question ID : 9895804318
Chosen Option : 4
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Q6 :
9 What is the value of | + > -2 4+ 2 of(3+i)]?

= : 8 5 15 2 5
Ans . X 1. 17/80

< 2. 21/100

X 3 1529

v 4 13/100

Question ID : 9895804311
Chosen Option : 4

Q(',7 If 24 = 3B = 7C. then what is the ratio of 4 : B: C?
Ans X1 2:3:7

V2 21:14:6

X3 21:10:6

X4 14:10:21

Question ID : 9895804319

Chosen Option : 2

Q.7 The Least Common Multiple and Highest Common Factor of two numbers are 75 and S respectively. If their difference
is 10, then what will be the sum of these two numbers?

Ans X130
v 2 40
X3 20
X 4 25

Question ID : 9895804309
Chosen Option : 2

Q.7 A sum becomes § times of itselfin 7 years at the rate of compound interest (interest is compounded annually). In how
many years will the sum becomes 4096 times of itself?

Ans X 1. 56
v 2 28
X3 24
X4 16

Question ID : 9895804323

Chosen Option : 2

Q.7 The bar chart given below shows the ratio of expenditure to revenue for seven consecutive years Y1, Y2.Y3. Y4, Y5,
Y6 and Y7.

000 g 3¢ O 0%

ws
I I I |nmﬂl“‘l

Y Y2 ¥ W Y5 ve YT

Revenue for year Y4 is ¥ 22500. What is the profit for year Y42

Ans X 1.3 2500
X 2. 22750
v 3. 22250
X 4 Cannot be determined

Question ID : 9895804331
Chosen Option : 3
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Q.7 The volume of a right circular cone is equal to the volume of that right cireular eylinder whose height is 48 em and
4 diameter of its base is 20 cm. Ifthe height of the core is 16 cm, then what will be the diameter of its base?

Ans - X 1. 45 cm
X 2 130 cm
X 3 25cm
v 4. 60 cm

Question ID : 9895804330
Chosen Option : 4

Q7 Ifs:u:v:w=2:9:6:7ands+u+v+w= 864, then what is the value of s + u +w?
5

Ans X 1. 734
X 2722
X 3 612
v 4 648

Question ID : 9895804321
Chosen Option : 4

Section : English Language

Q1 Select the most appropriate ANTONYM of the given word.

SEMBLANCE
Ans o 1. Difference
X 2. Guise

X 3. Simile

X 4. Alikeness

Question ID : 9895804184
Chosen Option : --

Q.2 Fill in the blank with the most appropriate word.

Miserly people find it difficult to part any of their money for charitable purposes.

Ans X 1. for
v 2 from
X 3. with
X 4. about

Question ID : 9895804200
Chosen Option : --

Q.3 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
substitute it. select No Improvement.

subhash Palekar a farmer received the Padma Shriaward this ysar in his campaign for zero budget natral farming.

Ans X 1. at his campaign with zero budget
X 2. No Improvement
/< 3. for his campaign for zero budget

o 4 for his campaign to zero budget
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Question ID : 9895804199
Chosen Option : --

4 Select the synonym of the given word.

FACADE
Ans X 1. Elevation
W 2 Ceiling

X 3. Interior
/< 4. Frontage

9% Select the most appropriate word to fill in the blank.

I would rather serve
Ans  of 1. than beg

X 2. than to beg
X 3. but to beg
X 4 but beg

@6 Select the correctly spe
Ans X 1. Discrepancy
X 2. Descrepancy
« 3. Discrepency
X 4. Discripancy

%7 Select the synonym of the given word.

IMITATION
Ans  of 1 Artificial

X 2. Genuine
X 3. Different
X 4 Real

Q8 Select the correctly spelt word.

Ans

X ' Liesure
X 2 Lisure

Question ID : 9895804183
Chosen Option : --

Question ID : 9895804201
Chosen Option : --

Question ID : 9895804189
Chosen Option : --

Question ID : 9895804182
Chosen Option : --
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W 3. Leisure
X 4 Leisour
Question ID : 9895804188
Chosen Option : --
Q9 Select the most appropriate word to fill in the blank.
A house to house survey was conducted to register more than seventeen crore voters.
Ans - 1. meticulously
X 2 firmly

Q.1
0

Q.1
1

Ans

Ans

Q.1
2

Ans

« 3. punctually
X 4 wearily

Question ID : 9895804193
Chosen Option : --

Select the most appropriate meaning of the given idiom.

Storm in a teacup
X< 1 A stormy tea party

X 2. A big fuss over a small issue
X 3. A grand get-together
o 4 A highly risky business

Question ID : 9895804186
Chosen Option : --

Select the word which means the same as the group of words given.

Something never done or known before
& L Unanimous

+ 2. Unconditioned

X 3. Uncanny

X 4. Unprecedented

Question ID : 9895804191
Chosen Option : --

Identify the segment in the sentence which contains the grammatical error from the given options.

When he returned to the dining-room the guests left and the servants were clearing the tables.
X 1. to the dining-room

« 2. When he
X 3. the guests left

/< 4. were clearing

Question ID : 9895804195

Chosen Option : --
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Ol Select the word which means the same as the group of words given.

The life history of a person written by himself

Ans - X 1. Novel
X 2. Fiction
« 3. Autobiography

X 4 Biography

Question ID : 9895804190
Chosen Option : --

Qf Select the most appropriate ANTONYM of the given word.

RAMBLING
Ans  of 1. Deceptive

X 2. Confused
X 3. Irregular
X 4 Coherent

Question ID : 9895804185
Chosen Option : --

Qél Fill in the blank with the most appropriate word.

Reason is the highest faculty on man by his creator.
Ans  of 1. given
X 2. donated

X 3. endowed
X 4. bestowed

Question ID : 9895804192
Chosen Option : --

Q.1 Tdentify the segment in the sentence which contains the grammatical error from the given options.
6

He was deprived from the benefits of college education owing to the death of his father.

Ans - X 1. owing to

X 2. the benefits of
X 3. college education

« 2. He was deprived from

Question ID : 9895804194
Chosen Option : --

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence If there is no need to
7 substitute it, select No Improvement.

He spent all which he has in order to perfect his lnvenrion.

Ans X 1. that he had
« 2 what he is having
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& 3. No Improvement

X 4. which he has

Question ID : 9895804198
Chosen Option : --

Qél Select the most appropriate meaning of the idiom.

To burn all bridges
Ans X 1. To destroy all relations
X 2. To light a fire

X 3. To chase all enemies
« 4 To damage a path

Question ID : 9895804187

Chosen Option : --

Qél Identify the segment in the sentence which contains the grammatical error from the given options.

This bottle must not be make to stand close to the fire.
Ans X 1. close to the fire

« 2. This bottle
& 3. make to stand
X 4. must not be

Question ID : 9895804196

Chosen Option : --

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given.

Science has made an (1) contribution to the relief of human suffering, and humanity (2) a deep (3)
of gratitude to scientists whose (4) and sacrifices have led to many (5) discoveries and
inventions.

SubQuestion No : 20
de Fill in the blank (1) with the most appropriate option.
Ans o 1. enormous
X 2. intensive
X 3. excessive
X 4. enterprising

Question ID : 9895804203
Chosen Option : --

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given.

Science has made an (1) contribution to the relief of human suffering, and humanity (2) a deep (3)
of gratitude to scientists whose (4) and sacrifices have led to many (5) discoveries and
inventions.

SubQuestion No : 21

Ql'z Fill in the blank (2) with the most appropriate option.
Ans X 1. thinks

X 2 offers
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W 3 feels
X 2. owes

Question ID : 9895804204
Chosen Option : --

Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given.

Science has made an (1) contribution to the relief of human suffering, and humanity (2) a deep (3)
of gratitude to scientists whose (4) and sacrifices have led to many (5) discoveries and
inventions.

SubQuestion No : 22
%2 Fill in the blank (3) with the most appropriate option.

Ans - X 1. feeling

X 2. sense

X 3. fund
« 2 amount

Question ID : 9895804205
Chosen Option : --

Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given.

Science has made an (1) contribution to the relief of human suffering, and humanity (2) a deep (3)
of gratitude to scientists whose (4) and sacrifices have led to many (5) discoveries and
inventions.

SubQuestion No : 23
%2 Fill in the blank (4) with the most appropriate option.

Ans  of 1 labour

X 2. achievements
X 3. success

X 4 discoveries

Question ID : 9895804206
Chosen Option : --

Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given.

Science has made an (1) contribution to the relief of human suffering, and humanity (2) a deep (3)
of gratitude to scientists whose (4) and sacrifices have led to many (5) discoveries and
inventions.

SubQuestion No : 24
Q2 Fill in the blank (5) with the most appropriate option.

Ans  of 1. curious
X 2. unusual
/< 3. dvnamic
X 4 useful

Question ID : 9895804207
Chosen Option : --

Q.2 Select the most appropriate option to substitute the underlined segment in the given sentence. 1f there is no nead to
5 substitute it. select No Improvement

The Finance Minister has announce big schemes for farmers, women and unorganized workers in his Budget speech.

Ans
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X 1. have announced

+ 2. has announced

/< 3. has been announcing

X 4. No Improvement

Question ID : 9895804197
Chosen Option : --

Section : Hindi Language

O R T A w1 ag AT AT A S A IR

AT FAdT H FAET A &+ o7 WW@H%&WI@'%I

X L FTHART FAdT F
2. FFT #a & faw

s Y ST @R
4.3@%9?@?

Ans

Question ID : 9895803572
Chosen Option : 3

Comprehension:

v 71w agete A Fo e ger Rw aw 1 Rw aw Rt H
e ¥ Rad T o8| 93% 8 & v ged 39ged
BereT FT TTT FL

THS aTel Us Agccavur aid I8 off § B wlr (1)
FAR 3her T A& AN BX __ (2) @R e & forw ad
B Fo TeEa R T S E ST W (3) @ TH FTT
e gt € AR TE AT QP FAS F FAAE o 39S 3 A
TETE BT g1 AR T R (4) =7 e ofr 37

(5) #r g § g I ers femnE &ar gl

SubQuestion No : 2
¥ ez # WA R T (1) & R suge
oreg g -
Ans x 1. m‘f
X Rk
X 3 Fae
+ T

Question ID : 9895803581
Chosen Option : 4

Comprehension:
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Q.3

Ans
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%vma;gﬁzﬁgm%mga%vm%‘l T 77 et &
TErar ¥ Raa T | 9% §Ed # v 9w 399
fareT &1 =TT H

THS aTel T Agecaqu! a1 Tg o § BF Al (1)
FAN Fbor FT A AN WY (2) §AR e & fow A
B FT Tenal tEr s A F S W (3) T TH HT
T B & HR TE 99 R A F FHA o 3 7T A
9gTS BT gl R FH W (4) T T o 3

__ (5) Fr @ § oo W® eI s & §

SubQuestion No : 3

e H Tertad NaFd T (2) & forw sugea
reg BT -

X & frars

X > GER

v o TS

X s+ g

Question ID : 9895803582
Chosen Option : 3

Q.4

Ans

Comprehension:

i 71w ageoe A Fo weg ger v aw 1 R av Rt
e ¥ Rad T oY 93% e & v ge 39ged
RAereT & T3d FI

TAS ATE Us Agccaqur ad I8 off § B |l (1)
FAR 3her T G N BR __ (2) gAR e & fow A
B Fo desal tH T A E ST W (3) T TH HT
T Bl § R TT aT R FAS FT THSATA o 39S 3T A
TETE BT g1 AR T R (4) =7 T ofr 37

(5) #r g § Tree g Ters fewnE &ar g

SubQuestion No : 4

e H Tehtad RNaFd T (3) & forw sugsa
rec EI9T -

v L gaATSH

X2 qF

X 3 T

X o o

Question ID : 9895803583
Chosen Option : 1

Comprehension:
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Q.5

Ans
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ﬁvmﬁmﬁ@t’mmﬁvm%l T 717 Fepeat &
TErar ¥ Rad T | 9% §EU # v e 399
e &1 =TT H

THS Aol T Agecaqu! a1 Ig o § R &l (1)
FAN kol FT A AN WY (2) §AR e & fow g
B FT Jerar v i A S W (3) T TH FT
T B & HR TE 99 W A F THA o 3 79 A
9gTS BT 8l R FH W (4) F7 T o 3

__ (5) Fr @ § oo 7® WS femng &

SubQuestion No : 5

A H Tertad NaFd T (4) & forw sugea
ec; BT -

X L @

X2 @

v T

o

4 FHA

Question ID : 9895803584
Chosen Option : 3

Q.6

Ans

Q.7

Comprehension:

fir 71w angeoe A Fo we ger v aw 1 R o fwedr #
werar ¥ R T o s wEdr F v wew s9ged
e &7 U HL

THASA ATe Ush Agccaqur ad I8 off § & |l (1)
FAR 3her T A& AN BX __ (2) gAR e & fow A
B FT TeRa P T A E ST W (3) T TH HA
T 2 & 3R 7 99 R TAS F FHA o 39 39 H
9ETE g gl AR FW W (4) 7 T s 37

(5) #r g g forg ae wers s o #

SubQuestion No : 6

ST H Terlad NaFd ¥ (5) & forw sugsa
e e -
X g
X2
. gt
v o zafgaat

Question ID : 9895803585
Chosen Option : 4




4/27/2019 https://ssc.digialm.com//per/g21/pub/2207/touchstone/AssessmentQPHTMLMode1//220701827/220701827S6D29545/1552482130...
few 1w T A Wifea @ # yaruiy & & O svged Feer &1 a9 &)
ST Bed ¥ 3T O cufeadt @ HE;_ET_?I?I

" K 1 g B et @ ey a
. 3 @ fFadt ¥ gy @ e
3 3% d =fFaat #F Jeg @ T8
+ 3z dt wafeaat # 7eg & TS|

Question ID : 9895803575
Chosen Option : 4

Q'Bﬁvmmﬁmmﬁmmtﬁvmﬁwmmﬁl
Yoot AfT & 91T, IS Tl HeX & Y Had S|

L 3Rl @ AT

> 3Rl agl SRt

3 378 F@ S

4 3o8I T@T gL

Ans

Question ID : 9895803574
Chosen Option : 2

¥ R e e w1 e
q=
A of 1 IRE
X 2. TAT
X o ofw
X o fem

Question ID : 9895803586
Chosen Option : 1

S TE TN A AT F T FL
A X1 TR

v o 3TEYE

X 3. HTHYHR

X 4 3FTSH

Question ID : 9895803594
Chosen Option : 2

Qfﬁ?ﬂ@ﬂ?ﬁﬂlﬁ?%@ﬁ@ﬂgﬁmsqaﬁruad FI
g5 gz-uiat $ir FLAT TMETI
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Ans XIR'g
X 2. 30eTT
v o T
4.ﬁaé‘

Question ID : 9895803576
Chosen Option : 3

% e we o & T T s9gEa ueE 1 99 A

H3EhH _ HSEH Y @
Ans "lw

X 2 Fwerar

X 3 rer

X 4 gdY

Question ID : 9895803577
Chosen Option : 1

Qél%a}mmhra:ﬁvwalaaml

S 81 39eTF &
Ans X1 ¥ET

v 33T

X5 g%

X 1 FE

Question ID : 9895803593
Chosen Option : 2

Q‘ilmﬁ#mﬁmmmﬁsﬂ'mﬁwm'gmﬁﬂwmm%l
A
U X1 aga R B e
2. H{WT H Y STIRT g9 ST
X 3. T FeArAT

4 T WY AR ST

Question ID : 9895803590
Chosen Option : 4

% R e # e F R T s9gEd a7 99T H

TFERT 9F g ELCECINE]

Ans 1.
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v 2 Hega
X s fdres
X 4 3ead

Question ID : 9895803578
Chosen Option : 2

% R T o ¥ IOTHEET e FT TET Y

FHaaT

=2

Ans X' 1. §TE
v 2 3
X 3. §oT
X 4 €Te]

Question ID : 9895803589
Chosen Option : 1

% TEr TS AT U T TIA H
Ans l_qm

Question ID : 9895803595
Chosen Option : 3

% R T g ¥ IHTHEET e FT AU &Y
fr

Ans X 1 el
X2 HET
v g%
X4 g

Question ID : 9895803588
Chosen Option : 3

% R e weg @ e
=

Ans Xl. 31.%8.
-
X * ot
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v FET

Question ID : 9895803587
Chosen Option : 4

Q2 o are s w7 g s e o ¥ R
7o A o R A SRy B 3 ¥, AR o el aife T Aen-Rrar o Rk war B
Ans L T o swe 3nifRre RwToT
2 30 A ypfa 2T T,
X s 7T Fr afda
4. FTAT-Rrar 9T R F=ar

Question ID : 9895803570
Chosen Option : 1

Qizﬁﬁmafrma;ﬁﬂ'mwgw e T TTT HI|

Tirg wiver Hr 31 Aer Bl
Ans o 1. JAT

X 2. 30eT

X 3. FTET

v o 3de

Question ID : 9895803579
Chosen Option : 4

Q.2 ﬁwﬁﬁa#ﬁnﬁmwmﬁs&'aﬁmwmmﬁw'@mwﬁmm%l
2

AN FHSATE #T AT BT
. FEIS T Fgal
X s oRfefa & semar
X o 7 AT T F T FIIAT

Question ID : 9895803591
Chosen Option : 1

% I T FrEme F BT T aeg A

FH Qe arel
Ans X 1 qmeRTETdr
. g

v o 3yeTET

Question ID : 9895803592
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l Chosen Option : 4 J

Qfﬁ.ltrmarawamagammﬁmﬁaﬂé’gﬁ%l
a@a@rm&ﬁ@ammm%ﬁwmﬁwwmm%l
e le- 3 gy F 9w o
IXZ- HAT H geaHt T A
IX?»- ST TR gl
v ¢ ET WA TR §

Question ID : 9895803571
Chosen Option : 4

Qézﬁvmmﬁmﬁﬂdgﬁmm%%vsﬂwﬁmmmﬁl
T TREAH & FROT AAT S I ER 4 Tpia § e o 1 &

An

X R ¥ B e ¥ o )
. i F e o o §
s g B frwe & s &
o gy & e o o

Question ID : 9895803573
Chosen Option : 4




